## TITLE: Turf Grass Maintenance For City Quadrants: NW SW NE And SE (LOT: SE) OPENED: 1/5/2023

Vendor	1/5/2023		1	Visualscape, Inc		SFM Service	s Inc.
Location					iami, FL	Mian	ni, FL
P-Card					MC	Vi	sa
Item #	Item	Qty	Unit	Price	Total	Price	Total
1	Mow Service for Broward Blvd medians from Andrews Ave east to Victoria Park Rd	26	each	\$40.50	\$1,053.00	\$140.00	\$3,640.00
2	Hedge Service for Broward Blvd medians from Andrews Ave east to Victoria Park Rd	15	each	\$252.00	\$3,780.00	\$630.00	\$9,450.00
3	Additional Weed and Trash Service for Broward Blvd medians from Andrews Ave east	11	each	\$64.00	\$704.00	\$70.00	\$770.00
	Pre-Emergent Service for Broward Blvd medians from Andrews Ave east to Victoria	1	each	\$30.00	\$30.00	\$192.00	\$192.00
5	Fertilizer Service for Broward Blvd medians from Andrews Ave east to Victoria Pa	2	each	\$50.00	\$100.00		\$384.00
	Mulching Service for Broward Blvd medians from Andrews Ave east to Victoria Park	2	each	\$168.75	\$337.50		\$2,040.00
	Mow Service for Las Olas Blvd medians & ROWs - Andrews Ave to west side of Intra	26	each	\$162.00	\$4,212.00		\$5,460.00
8	Hedge Service for Las Olas Blvd medians & ROWs - Andrews Ave to west side of Int	15	each	\$1,120.00	\$16,800.00		\$15,750.00
9	Additional Weed and Trash Service for Las Olas Blvd medians & ROWs - Andrews Ave	11	each	\$160.00	\$1,760.00		\$770.00
10	Pre-Emergent Service for Las Olas Blvd medians & ROWs - Andrews Ave to west side	1	each	\$75.00	\$75.00	\$384.00	\$384.00
11	Fertilizer Service for Las Olas Blvd medians & ROWs - Andrews Ave to west side o	2	each	\$250.00	\$500.00		\$768.00
	Mulching Service for Las Olas Blvd medians & ROWs - Andrews Ave to west side of	2	each	\$6,750.00	\$13,500.00		\$2,550.00
	Mow Service for Las Olas Blvd swales on north & south sides from Isle of Capri D	26	each	\$270.00	\$7,020.00		\$10,920.00
	Hedge Service for Las Olas Blvd swales on north & south sides from Isle of Capri	15	each	\$560.00	\$8,400.00		\$8,400.00
	Additional Weed and Trash Service for Las Olas Blvd swales on north & south side	11	each	\$96.00	\$1,056.00		\$770.00
	Pre-Emergent Service for Las Olas Blvd swales on north & south sides from Isle o	2	each	\$75.00	\$75.00		\$192.00
18	Fertilizer Service for Las Olas Blvd swales on north & south sides from Isle of Mulching Service for Las Olas Blvd swales on north & south sides from Isle of Ca	2	each each	\$250.00 \$1,012.50	\$500.00 \$2,025.00		\$384.00 \$2,040.00
	Mow Service for S Birch Road at Las Olas Circle and Cortes St - triangle and rou	26	each	\$1,012.50	\$2,025.00	\$1,020.00	\$2,040.00
	Hedge Service for S Birch Road at Las Olas Circle and Cortes St - triangle and r	15	each	\$13.50	\$351.00		\$525.00
21	Additional Weed and Trash Service for S Birch Road at Las Olas Circle and Cortes and Cortes	11	each	\$14.00	\$210.00		\$770.00
	Pre-Emergent Service for S Birch Road at Las Olas Circle and Cortes St - triangl	1	each	\$15.00	\$15.00		\$48.00
	Fertilizer Service for S Birch Road at Las Olas Circle and Cortes St - triangle	2	each	\$25.00	\$50.00		\$96.00
	Mulching Service for S Birch Road at Las Olas Circle and Cortes St - triangle an	2	each	\$33.75	\$67.50		\$425.00
25	Mow Service for SE 23 Ave/Seven Isles Dr entrance swale/seawall - SE 23 Ave nor	26	each	\$40.50	\$1,053.00		\$1,820.00
26	Hedge Service for SE 23 Ave/Seven Isles Dr entrance swale/seawall - SE 23 Ave n	15	each	\$224.00	\$3,360.00	\$70.00	\$1,050.00
27	Additional Weed and Trash Service for SE 23 Ave/Seven Isles Dr entrance swale/s	11	each	\$32.00	\$352.00	\$35.00	\$385.00
28	Pre-Emergent Service for SE 23 Ave/Seven Isles Dr entrance swale/seawall - SE 2	1	each	\$30.00	\$30.00		\$96.00
29	Fertilizer Service for SE 23 Ave/Seven Isles Dr entrance swale/seawall - SE 23	2	each	\$50.00	\$100.00	\$96.00	\$192.00
30	Mulching Service for SE 23 Ave/Seven Isles Dr entrance swale/seawall - SE 23 Av	2	each	\$168.75	\$337.50	\$212.50	\$425.00
31	Mow Service for SE 25 Ave/Riviera Isle and SE 5 St /Solar Plaza Dr seawall on SW	26	each	\$13.50	\$351.00	\$35.00	\$910.00
32	Hedge Service for SE 25 Ave/Riviera Isle and SE 5 St /Solar Plaza Dr seawall on	15	each	\$8.40	\$126.00	\$35.00	\$525.00
33	Additional Weed and Trash Service for SE 25 Ave/Riviera Isle and SE 5 St /Solar	11	each	\$8.00	\$88.00	\$35.00	\$385.00
34	Pre-Emergent Service for SE 25 Ave/Riviera Isle and SE 5 St /Solar Plaza Dr seaw	1	each	\$15.00	\$15.00	\$48.00	\$48.00
35	Fertilizer Service for SE 25 Ave/Riviera Isle and SE 5 St /Solar Plaza Dr seawal	2	each	\$12.50	\$25.00	\$48.00	\$96.00
	Mulching Service for SE 25 Ave/Riviera Isle and SE 5 St /Solar Plaza Dr seawall	2	each	\$50.65	\$101.30		\$85.00
	Mow Service for SE 25 Ave/Riviera Isle from Las Olas Blvd to S end of road incl	26	each	\$108.00	\$2,808.00		\$1,040.00
	Hedge Service for SE 25 Ave/Riviera Isle from Las Olas Blvd to S end of road in	15	each	\$28.00	\$420.00		\$1,575.00
	Additional Weed and Trash Service for SE 25 Ave/Riviera Isle from Las Olas Blvd	11	each	\$32.00	\$352.00		\$385.00
	Pre-Emergent Service for SE 25 Ave/Riviera Isle from Las Olas Blvd to S end of r	1	each	\$150.00	\$150.00		\$48.00
	Fertilizer Service for SE 25 Ave/Riviera Isle from Las Olas Blvd to S end of roa	2	each	\$150.00	\$300.00	\$48.00	\$96.00
42	Mulching Service for SE 25 Ave/Riviera Isle from Las Olas Blvd to S end of road	2	each	\$180.00	\$360.00		\$127.50
	Mow Service for 305 Lido Dr. Las Olas Blvd and Lido Drive Pump Station (entire	26	each	\$6.75	\$175.50		\$3,640.00
44 45	Hedge Service for 305 Lido Dr - Las Olas Blvd and Lido Drive Pump Station (entir Additional Weed and Trash Service for 305 Lido Dr - Las Olas Blvd and Lido Drive	15 11	each	\$15.40 \$4.80	\$231.00 \$52.80		\$3,150.00 \$385.00
45	Pre-Emergent Service for 305 Lido Dr - Las Olas Bivd and Lido Drive	1	each	\$4.80 \$7.50	\$52.80 \$7.50		\$385.00
46	Fertilizer Service for 305 Lido Dr - Las Olas Blvd and Lido Drive Pump Station (	2	each each	\$12.50	\$7.50		\$48.00
48	Mulching Service for 305 Lido Dr - Las Olas Blvd and Lido Drive Pump Station (	2	each	\$33.75	\$67.50		\$340.00
49	Mow Service for Points of America medians swales and roundabouts - S Ocean Dr f	26	each	\$243.00	\$6,318.00		\$3,640.00
50	Hedge Service for Points of America medians swales and roundabouts - S Ocean Dr	15	each	\$896.00	\$13,440.00		\$5,250.00
51	Additional Weed and Trash Service for Points of America medians swales and roun	11	each	\$160.00	\$1,760.00		\$770.00
52	Pre-Emergent Service for Points of America medians swales and roundabouts - S O	1	each	\$150.00	\$150.00		\$144.00
53	Fertilizer Service for Points of America medians swales and roundabouts - S Oce	2	each	\$350.00	\$700.00		\$288.00
54	Mulching Service for Points of America medians swales and roundabouts - S Ocean	2	each	\$1,012.50	\$2,025.00		\$2,125.00
55	Mow Service for S Andrews Ave medians & ROWs from Broward Blvd to SE 6 Ave inclu	26	each	\$162.00	\$4,212.00		\$9,100.00
56	Hedge Service for S Andrews Ave medians & ROWs from Broward Blvd to SE 6 Ave inc	15	each	\$420.00	\$6,300.00		\$4,200.00
57	Additional Weed and Trash Service for S Andrews Ave medians & ROWs from Broward	11	each	\$128.00	\$1,408.00		\$770.00
58	Pre-Emergent Service for S Andrews Ave medians & ROWs from Broward Blvd to SE 6	1	each	\$37.50	\$37.50		\$96.00
59	Fertilizer Service for S Andrews Ave medians & ROWs from Broward Blvd to SE 6 Av	2	each	\$300.00	\$600.00	\$96.00	\$192.00
60	Mulching Service for S Andrews Ave medians & ROWs from Broward Blvd to SE 6 Ave	2	each	\$337.50	\$675.00	\$170.00	\$340.00
61	Mow Service for Isle of Capri/SE 17 Way median south of Las Olas Blvd between La	26	each	\$27.00	\$702.00	\$35.00	\$910.00
62	Hedge Service for Isle of Capri/SE 17 Way median south of Las Olas Blvd between	15	each	\$56.00	\$840.00	\$70.00	\$1,050.00
63	Additional Weed and Trash Service for Isle of Capri/SE 17 Way median south of La	11	each	\$16.00	\$176.00	\$35.00	\$385.00
64	Pre-Emergent Service for Isle of Capri/SE 17 Way median south of Las Olas Blvd b	1	each	\$15.00	\$15.00	\$48.00	\$48.00

r .		ı	1				
65	Fertilizer Service for Isle of Capri/SE 17 Way median south of Las Olas Blvd bet	2	each	\$25.00	\$50.00	\$48.00	\$96.00
66	Mulching Service for Isle of Capri/SE 17 Way median south of Las Olas Blvd betwe	2	each	\$67.50	\$135.00	\$63.75	\$127.50
67	Mow Service for SE 6 Ave medians & ROWs from SR 84 to Federal Hwy/US1	26	each	\$27.00	\$702.00	\$210.00	\$5,460.00
68	Hedge Service for SE 6 Ave medians & ROWs from SR 84 to Federal Hwy/US1	15	each	\$28.00	\$420.00	\$70.00	\$1,050.00
69 70	Additional Weed and Trash Service for SE 6 Ave medians & ROWs from SR 84 to Fede Pre-Emergent Service for SE 6 Ave medians & ROWs from SR 84 to Federal Hwy/US1	11 1	each each	\$16.00 \$22.50	\$176.00 \$22.50	\$70.00 \$48.00	\$770.00 \$48.00
71	Fertilizer Service for SE 6 Ave medians & ROWs from SR 84 to Federal Hwy/US1	2	each	\$50.00	\$100.00	\$48.00	\$96.00
72	Mulching Service for SE 6 Ave medians & ROWs from SR 84 to Federal Hwy/US1	2	each	\$168.75	\$337.50	\$127.50	\$255.00
73	Mow Service for S Federal Hwy medians from Broward Blvd to SE 30 St	26	each	\$108.00	\$2,808.00	\$35.00	\$910.00
74	Hedge Service for S Federal Hwy medians from Broward Blvd to SE 30 St	15	each	\$1,540.00	\$23,100.00		\$19,950.00
75	Additional Weed and Trash Service for S Federal Hwy medians from Broward Blvd to	11	each	\$288.00	\$3,168.00	\$70.00	\$770.00
76	Pre-Emergent Service for S Federal Hwy medians from Broward Blvd to SE 30 St	1	each	\$375.00	\$375.00	\$288.00	\$288.00
77	Fertilizer Service for S Federal Hwy medians from Broward Blvd to SE 30 St	2	each	\$600.00	\$1,200.00	\$288.00	\$576.00
78	Mulching Service for S Federal Hwy medians from Broward Blvd to SE 30 St	2	each	\$2,362.50	\$4,725.00	\$1,700.00	\$3,400.00
79	Mow Service for Hospital Section medians from: SE 1 Ave from SE 12 St/Davie Blv	26	each	\$1,620.00	\$42,120.00	\$210.00	\$5,460.00
80	Hedge Service for Hospital Section medians from: SE 1 Ave from SE 12 St/Davie B	15	each	\$1,400.00	\$21,000.00	\$210.00	\$3,150.00
81	Additional Weed and Trash Service for Hospital Section medians from: SE 1 Ave f	11	each	\$512.00	\$5,632.00	\$70.00	\$770.00
82	Pre-Emergent Service for Hospital Section medians from: SE 1 Ave from SE 12 St/	1	each	\$750.00	\$750.00	\$288.00	\$288.00
83	Fertilizer Service for Hospital Section medians from: SE 1 Ave from SE 12 St/Da	2	each	\$750.00	\$1,500.00	\$288.00	\$576.00
84	Mulching Service for Hospital Section medians from: SE 1 Ave from SE 12 St/Davi	2	each	\$3,375.00	\$6,750.00	\$850.00	\$1,700.00
85	Mow Service for Ponce de Leon Dr medians from S Federal Hwy to end of road inclu	26	each	\$864.00	\$22,464.00	\$1,260.00	\$32,760.00
86	Hedge Service for Ponce de Leon Dr medians from S Federal Hwy to end of road inc	15	each	\$504.00	\$7,560.00	\$630.00	\$9,450.00
87 88	Additional Weed and Trash Service for Ponce de Leon Dr medians from S Federal Hw	11	each	\$384.00 \$600.00	\$4,224.00 \$600.00	\$70.00 \$384.00	\$770.00 \$384.00
89	Pre-Emergent Service for Ponce de Leon Dr medians from S Federal Hwy to end of r Fertilizer Service for Ponce de Leon Dr medians from S Federal Hwy to end of roa	2	each each	\$2,000.00	\$4,000.00	\$384.00	\$768.00
90	Mulching Service for Ponce de Leon Dr medians from S Federal Hwy to end of road	2	each	\$7,425.00	\$14,850.00		\$2,125.00
91	Mow Service for Coconut Isle Dr/SE 18 Ave medians & beds from Las Olas to cul-d	26	each	\$270.00	\$7,020.00	\$70.00	\$1,820.00
92	Hedge Service for Coconut Isle Dr/SE 18 Ave medians & beds from Las Olas to cul	15	each	\$196.00	\$2,940.00	\$70.00	\$1,050.00
93	Additional Weed and Trash Service for Coconut Isle Dr/SE 18 Ave medians & beds	11	each	\$64.00	\$704.00	\$35.00	\$385.00
94	Pre-Emergent Service for Coconut Isle Dr/SE 18 Ave medians & beds from Las Olas	1	each	\$37.50	\$37.50	\$48.00	\$48.00
95	Fertilizer Service for Coconut Isle Dr/SE 18 Ave medians & beds from Las Olas t	2	each	\$550.00	\$1,100.00	\$48.00	\$96.00
96	Mulching Service for Coconut Isle Dr/SE 18 Ave medians & beds from Las Olas to	2	each	\$1,012.50	\$2,025.00	\$850.00	\$1,700.00
97	Mow Service for Solar Isle Dr/SE 24 Ave medians from SE 5 St to SE 8 St at cul-	26	each	\$162.00	\$4,212.00	\$70.00	\$1,820.00
98	Hedge Service for Solar Isle Dr/SE 24 Ave medians from SE 5 St to SE 8 St at cu	15	each	\$224.00	\$3,360.00	\$35.00	\$525.00
99	Additional Weed and Trash Service for Solar Isle Dr/SE 24 Ave medians from SE 5	11	each	\$64.00	\$704.00	\$35.00	\$385.00
100	Pre-Emergent Service for Solar Isle Dr/SE 24 Ave medians from SE 5 St to SE 8 S	1	each	\$37.50	\$37.50	\$48.00	\$48.00
101	Fertilizer Service for Solar Isle Dr/SE 24 Ave medians from SE 5 St to SE 8 St	2	each	\$400.00	\$800.00	\$48.00	\$96.00
102	Mulching Service for Solar Isle Dr/SE 24 Ave medians from SE 5 St to SE 8 St at	2	each	\$843.75	\$1,687.50	\$42.50	\$85.00
103	Mow Service for Isle of Palms Dr seawall from Las Olas Blvd to 433 Isla of Palms	26	each	\$162.00	\$4,212.00	\$35.00	\$910.00
105	Additional Weed and Trash Service for Isle of Palms Dr seawall from Las Olas Blv	11 1	each	\$32.00	\$352.00	\$35.00	\$385.00
106 107	Pre-Emergent Service for Isle of Palms Dr seawall from Las Olas Blvd to 433 Isla Fertilizer Service for Isle of Palms Dr seawall from Las Olas Blvd to 433 Isla o	2	each each	\$15.00 \$300.00	\$15.00 \$600.00	\$48.00 \$48.00	\$48.00 \$96.00
107	Mulching Service for Isle of Palms Dr seawall from Las Olas Blvd to 433 Isla of	2	each	\$506.25	\$1,012.50	\$48.00	\$84.00
109	Mow Service for Eisenhower Blvd from SE 17 St to SE 20 St	26	each	\$108.00	\$2,808.00	\$70.00	\$1,820.00
110	Hedge Service for Eisenhower Blvd from SE 17 St to SE 20 St	15	each	\$14.00	\$210.00	\$35.00	\$525.00
111	Additional Weed and Trash Service for Eisenhower Blvd from SE 17 St to SE 20 St	11	each	\$16.00	\$176.00	\$35.00	\$385.00
112	Pre-Emergent Service for Eisenhower Blvd from SE 17 St to SE 20 St	1	each	\$15.00	\$15.00	\$48.00	\$48.00
113	Fertilizer Service for Eisenhower Blvd from SE 17 St to SE 20 St	2	each	\$50.00	\$100.00	\$48.00	\$96.00
114	Mulching Service for Eisenhower Blvd from SE 17 St to SE 20 St	2	each	\$50.65	\$101.30	\$85.00	\$170.00
115	Mow Service for SE 17 St medians ROWs and beds from Andrews to Mayan Dr/2700 b	26	each	\$864.00	\$22,464.00	\$420.00	\$10,920.00
116	Hedge Service for SE 17 St medians ROWs and beds from Andrews to Mayan Dr/2700	15	each	\$1,120.00	\$16,800.00	\$630.00	\$9,450.00
117	Additional Weed and Trash Service for SE 17 St medians ROWs and beds from Andr	11	each	\$256.00	\$2,816.00	\$70.00	\$770.00
118	Pre-Emergent Service for SE 17 St medians ROWs and beds from Andrews to Mayan	1	each	\$600.00	\$600.00	\$288.00	\$288.00
119	Fertilizer Service for SE 17 St medians ROWs and beds from Andrews to Mayan Dr	2	each	\$750.00	\$1,500.00	\$288.00	\$576.00
120	Mulching Service for SE 17 St medians ROWs and beds from Andrews to Mayan Dr/2	2	each	\$2,700.00	\$5,400.00	\$1,275.00	\$2,550.00
121 122	Mow Service for SE 10 Ave medians from south of SE 17 St to 20th St	26 15	each	\$81.00 \$224.00	\$2,106.00	\$35.00 \$70.00	\$910.00
122	Hedge Service for SE 10 Ave medians from south of SE 17 St to 20th St  Additional Weed and Trash Service for SE 10 Ave medians from south of SE 17 St t	11	each each	\$224.00	\$3,360.00 \$528.00	\$70.00	\$1,050.00 \$385.00
124	Pre-Emergent Service for SE 10 Ave medians from south of SE 17 St to 20th St	1	each	\$75.00	\$328.00 \$75.00	\$48.00	\$48.00
125	Fertilizer Service for SE 10 Ave medians from south of SE 17 St to 20th St	2	each	\$200.00	\$400.00	\$48.00	\$96.00
126	Mulching Service for SE 10 Ave medians from south of SE 17 St to 20th St	2	each	\$168.75	\$337.50	\$212.50	\$425.00
127	Mow Serivce for S Miami Rd medians from SE 16 Ct roundabout to south of SE 17 St	15	each	\$27.00	\$405.00	\$35.00	\$525.00
128	Hedge Service for S Miami Rd medians from SE 16 Ct roundabout to south of SE 17	15	each	\$336.00	\$5,040.00	\$35.00	\$525.00
129	Additional Weed and Trash Service for S Miami Rd medians from SE 16 Ct roundabou	11	each	\$64.00	\$704.00	\$35.00	\$385.00
130	Pre-Emergent Service for S Miami Rd medians from SE 16 Ct roundabout to south of	1	each	\$75.00	\$75.00	\$48.00	\$48.00
131	Fertilizer Service for S Miami Rd medians from SE 16 Ct roundabout to south of S	2	each	\$100.00	\$200.00	\$48.00	\$96.00
132	Mulching Service for S Miami Rd medians from SE 16 Ct roundabout to south of SE	2	each	\$236.25	\$472.50	\$42.50	\$85.00
133	Mow Service for SE 17 St Intracoastal Bridge parking lots and swales from SE 17	26	each	\$324.00	\$8,424.00	\$420.00	
					¢16 000 00	\$1,260.00	\$18,900.00
134	Hedge Service for SE 17 St Intracoastal Bridge parking lots and swales from SE 1	15	each	\$1,120.00	\$16,800.00		
134 135	Additional Weed and Trash Service for SE 17 St Intracoastal Bridge parking lots	11	each	\$256.00	\$2,816.00	\$105.00	\$1,155.00
134 135 136	Additional Weed and Trash Service for SE 17 St Intracoastal Bridge parking lots Pre-Emergent Service for SE 17 St Intracoastal Bridge parking lots and swales fr	11 1	each each	\$256.00 \$600.00	\$2,816.00 \$600.00	\$105.00 \$96.00	\$1,155.00 \$96.00
134 135	Additional Weed and Trash Service for SE 17 St Intracoastal Bridge parking lots	11	each	\$256.00	\$2,816.00	\$105.00	\$1,155.00

139	Mow Service for Harbour Inlet Dr from SE 17 St to Barbara Drive medians canal-e	26	each	\$108.00	\$2,808.00	\$35.00	\$910.00
140	Hedge Service for Harbour Inlet Dr from SE 17 St to Barbara Drive medians canal	15	each	\$420.00	\$6,300.00		\$1,050.00
141	Additional Weed and Trash Service for Harbour Inlet Dr from SE 17 St to Barbara	11	each	\$64.00	\$704.00	\$35.00	\$385.00
142	Pre-Emergent Service for Harbour Inlet Dr from SE 17 St to Barbara Drive medians	1	each	\$45.00	\$45.00	\$48.00	\$48.00
143	Fertilizer Service for Harbour Inlet Dr from SE 17 St to Barbara Drive medians	2	each	\$100.00	\$200.00	\$48.00	\$96.00
144	Mulching Service for Harbour Inlet Dr from SE 17 St to Barbara Drive medians ca	2	each	\$506.25	\$1,012.50	\$212.50	\$425.00
145	Mow Service for 1100 Seabreeze Blvd/Fort Lauderdale Beach Park Hedge Service for	15	each	\$27.00	\$405.00	\$17.50	\$262.50
146	Hedge Service for 1100 Seabreeze Blvd/Fort Lauderdale Beach Park Hedge Service f	15	each	\$1,680.00	\$25,200.00	\$980.00	\$14,700.00
147	Additional Weed and Trash Service for 1100 Seabreeze Blvd/Fort Lauderdale Beach	11	each	\$32.00	\$352.00	\$70.00	\$770.00
148	Pre-Emergent Service for 1100 Seabreeze Blvd/Fort Lauderdale Beach Park Hedge Se	1	each	\$450.00	\$450.00	\$192.00	\$192.00
149	Fertilizer Service for 1100 Seabreeze Blvd/Fort Lauderdale Beach Park Hedge Serv	2	each	\$1,500.00	\$3,000.00	\$192.00	\$384.00
150	Mulching Service for 1100 Seabreeze Blvd/Fort Lauderdale Beach Park Hedge Servic	2	each	\$5,062.50	\$10,125.00	\$1,275.00	\$2,550.00
151	Mow Service for SE 2 St/Himmarshee Canal swales on both sides SE 2 St - N side	26	each	\$378.00	\$9,828.00	\$140.00	\$3,640.00
152	Additional Weed and Trash Service for SE 2 St/Himmarshee Canal swales on both si	11	each	\$96.00	\$1,056.00	\$70.00	\$770.00
153	Pre-Emergent Service for SE 2 St/Himmarshee Canal swales on both sides SE 2 St	1	each	\$105.00	\$105.00	\$48.00	\$48.00
154	Fertilizer Service for SE 2 St/Himmarshee Canal swales on both sides SE 2 St -	2	each	\$400.00	\$800.00	\$48.00	\$96.00
155	Mulching Service for SE 2 St/Himmarshee Canal swales on both sides SE 2 St - N	2	each	\$675.00	\$1,350.00	\$42.50	\$85.00
156	Mow Service for Cordova Rd Seawall swale from SE 7 St to SE 11 Ct	26	each	\$270.00	\$7,020.00	\$140.00	\$3,640.00
157	Hedge Service for Cordova Rd Seawall swale from SE 7 St to SE 11 Ct	15	each	\$168.00	\$2,520.00	\$35.00	\$525.00
158	Additional Weed and Trash Service for Cordova Rd Seawall swale from SE 7 St to S	11	each	\$64.00	\$704.00	\$35.00	\$385.00
159	Pre-Emergent Service for Cordova Rd Seawall swale from SE 7 St to SE 11 Ct	1	each	\$105.00	\$105.00	\$48.00	\$48.00
160	Fertilizer Service for Cordova Rd Seawall swale from SE 7 St to SE 11 Ct	2	each	\$100.00	\$200.00	\$48.00	\$96.00
161	Mulching Service for Cordova Rd Seawall swale from SE 7 St to SE 11 Ct	2	each	\$168.75	\$337.50	\$42.50	\$85.00
162	Mow Service for SE 10 St Seawall from 1785 to 1817 SE 10 St	26	each	\$54.00	\$1,404.00	\$35.00	\$910.00
163	Mow Service for SR 84 from Andrews Ave to Federal Hwy median	26	each	\$27.00	\$702.00	\$35.00	\$910.00
164	Hedge Service for SR 84 from Andrews Ave to Federal Hwy median	15	each	\$56.00	\$840.00	\$35.00	\$525.00
165	Additional Weed and Trash Service for SR 84 from Andrews Ave to Federal Hwy medi	11	each	\$16.00	\$176.00	\$35.00	\$385.00
166	Pre-Emergent Service for SR 84 from Andrews Ave to Federal Hwy median	1	each	\$15.00	\$15.00	\$48.00	\$48.00
167	Fertilizer Service for SR 84 from Andrews Ave to Federal Hwy median	2	each	\$50.00	\$100.00	\$48.00	\$96.00
168	Mulching Service for SR 84 from Andrews Ave to Federal Hwy median	2	each	\$168.75	\$337.50	\$85.00	\$170.00
169	Mow Service for PUMP STATION D-44 1650 SE 15 av	26	each	\$54.00	\$1,404.00	\$35.00	\$910.00
	TOTAL				\$499,170.40		\$316,180.50

Quadrants	Price
Southeast (SE)	\$499,170.40
Northwest (NEW)	\$180,363.00
Southwest (SW)	\$202,815.00
Northeast (NE)	\$701,823.90
	\$1,584,172.30

## TITLE: Turf Grass Maintenance For City Quadrants: NW SW NE And SE (LOT: NW)

OPENED: 1/5/2023

Vendor	: 1/5/2023			Visuals	cape, Inc	SFM Service	es Inc.
Location					mi, FL		ni, FL
P-Card					ИĊ	V	isa
Item #	Item	Qty	Unit	Price	Total	Price	Total
1	Mow Service for Sistrunk Blvd medians & ROWs from Andrews Ave to NW 27 AvSistru	26	each	\$93.00	\$2,418.00	\$1,596.00	\$41,496.00
2	Hedge Service for Sistrunk Blvd medians & ROWs from Andrews Ave to NW 27 AvSist	15	each	\$744.00	\$11,160.00		\$525.00
3	Additional Weed and Trash Service for Sistrunk Blvd medians & ROWs from Andrews	11	each	\$64.00	\$704.00		\$3,344.00
4	Pre-Emergent Service for Sistrunk Blvd medians & ROWs from Andrews Ave to NW 27	1	each	\$75.00	\$75.00		\$576.00
5	Fertilizer Service for Sistrunk Blvd medians & ROWs from Andrews Ave to NW 27 Av	2	each	\$400.00	\$800.00		\$1,152.00
7	Mulching Service for Sistrunk Blvd medians & ROWs from Andrews Ave to NW 27 AvS  Mow Service for Powerline Rd/NW 9 Ave medians from Sunrise Blvd to NW 24 St	26	each each	\$2,887.50 \$248.00	\$5,775.00 \$6,448.00		\$4,760.00 \$21,736.00
8	Hedge Service for Powerline Rd/NW 9 Ave medians from Sunrise Blvd to NW 24 St	15	each	\$31.00	\$465.00	\$70.00	\$1,050.00
9	Additional Weed and Trash Service for Powerline Rd/NW 9 Ave medians from Sunrise	11	each	\$32.00	\$352.00	· ·	\$2,508.00
10	Pre-Emergent Service for Powerline Rd/NW 9 Ave medians from Sunrise Blvd to NW 2	1	each	\$37.50	\$37.50	-	\$288.00
11	Fertilizer Service for Powerline Rd/NW 9 Ave medians from Sunrise Blvd to NW 24	2	each	\$250.00	\$500.00		\$576.00
12	Mulching Service for Powerline Rd/NW 9 Ave medians from Sunrise Blvd to NW 24 St	2	each	\$165.00	\$330.00	\$1,190.00	\$2,380.00
13	Mow Service for Powerline Rd/NW 9 Ave medians from Commercial Blvd to McNab Rd i	26	each	\$186.00	\$4,836.00	\$532.00	\$13,832.00
15	Additional Weed and Trash Service for Powerline Rd/NW 9 Ave medians from Commerc	11	each	\$32.00	\$352.00	\$152.00	\$1,672.00
16	Pre-Emergent Service for Powerline Rd/NW 9 Ave medians from Commercial Blvd to M	1	each	\$75.00	\$75.00	\$192.00	\$192.00
17	Fertilizer Service for Powerline Rd/NW 9 Ave medians from Commercial Blvd to McN	2	each	\$300.00	\$600.00	-	\$384.00
18	Mulching Service for Powerline Rd/NW 9 Ave medians from Commercial Blvd to McNab	2	each	\$220.00	\$440.00		\$170.00
19	Mow Service for Sunrise Blvd medians swales & ROWs from NW 24 Ave to Andrews Av	26	each	\$124.00	\$3,224.00	-	\$21,736.00
20	Hedge Service for Sunrise Blvd medians swales & ROWs from NW 24 Ave to Andrews Additional Weed and Trash Service for Sunrise Blvd medians swales & ROWs from N	15 11	each	\$186.00 \$32.00	\$2,790.00 \$352.00	\$608.00 \$152.00	\$9,120.00 \$1,672.00
22	Pre-Emergent Service for Sunrise Blvd medians swales & ROWs from NW 24 Ave to A	1	each each	\$37.50	\$37.50	-	\$384.00
23	Fertilizer Service for Sunrise Blvd medians swales & ROWs from NW 24 Ave to And	2	each	\$200.00	\$400.00		\$768.00
24	Mulching Service for Sunrise Blvd medians swales & ROWs from NW 24 Ave to Andre	2	each	\$440.00	\$880.00	-	\$1,190.00
25	Mow Service for NW 62 St medians and ROWs from NW 31 Ave to Hawkins Rd including	26	each	\$31.00	\$806.00	-	\$3,952.00
26	Additional Weed and Trash Service for NW 62 St medians and ROWs from NW 31 Ave t	11	each	\$15.50	\$170.50		\$418.00
27	Pre-Emergent Service for NW 62 St medians and ROWs from NW 31 Ave to Hawkins Rd	1	each	\$37.50	\$37.50	\$144.00	\$144.00
28	Fertilizer Service for NW 62 St medians and ROWs from NW 31 Ave to Hawkins Rd in	2	each	\$100.00	\$200.00	\$144.00	\$288.00
29	Mulching Service for NW 62 St medians and ROWs from NW 31 Ave to Hawkins Rd incl	2	each	\$137.50	\$275.00	\$42.50	\$85.00
30	Mow Service for NW 62 Street/Cypress Creek Rd medians from NW 9 Ave/Powerlilne R	26	each	\$372.00	\$9,672.00	-	\$9,880.00
31	Hedge Service for NW 62 Street/Cypress Creek Rd medians from NW 9 Ave/Powerlilne	15	each	\$62.00	\$930.00		\$525.00
32	Additional Weed and Trash Service for NW 62 Street/Cypress Creek Rd medians from	11	each	\$32.00	\$352.00		\$836.00
33 34	Pre-Emergent Service for NW 62 Street/Cypress Creek Rd medians from NW 9 Ave/Pow Fertilizer Service for NW 62 Street/Cypress Creek Rd medians from NW 9 Ave/Power	2	each	\$150.00 \$200.00	\$150.00 \$400.00	\$192.00 \$192.00	\$192.00 \$384.00
35	Mulching Service for NW 62 Street/Cypress Creek Rd medians from NW 9 Ave/Powerli	2	each each	\$200.00	\$550.00	\$255.00	\$510.00
36	Mow Service for Commercial Blvd medians from west of I-95 west to Prospect Rd	26	each	\$248.00	\$6,448.00	-	\$15,808.00
37	Hedge Service for Commercial Blvd medians from west of I-95 west to Prospect Rd	15	each	\$372.00	\$5,580.00		\$4,560.00
38	Additional Weed and Trash Service for Commercial Blvd medians from west of I-95	11	each	\$64.00	\$704.00		\$836.00
39	Pre-Emergent Service for Commercial Blvd medians from west of I-95 west to Pros	1	each	\$150.00	\$150.00	\$384.00	\$384.00
40	Fertilizer Service for Commercial Blvd medians from west of I-95 west to Prospe	2	each	\$500.00	\$1,000.00	\$384.00	\$768.00
41	Mulching Service for Commercial Blvd medians from west of I-95 west to Prospect	2	each	\$3,300.00	\$6,600.00	\$1,275.00	\$2,550.00
42	Mow Service for 301 N Andrews Ave City Hall Annex lot	26	each	\$372.00	\$9,672.00	-	\$9,880.00
43	Hedge Service for 301 N Andrews Ave City Hall Annex lot	15	each	\$62.00	\$930.00		\$2,850.00
44	Additional Weed and Trash Service for 301 N Andrews Ave City Hall Annex lot	11	each	\$32.00	\$352.00	-	\$1,254.00
45	Pre-Emergent Service for 301 N Andrews Ave City Hall Annex lot Fertilizer Service for 301 N Andrews Ave City Hall Annex lot	1	each	\$300.00	\$300.00 \$500.00		\$144.00
46 47	Mulching Service for 301 N Andrews Ave City Hall Annex lot	2	each each	\$250.00 \$275.00	\$550.00	\$144.00 \$212.00	\$288.00 \$424.00
48	Mow Service for NW 19 St medians from NW 31 Ave to NW 3400 Blk	26	each	\$31.00	\$806.00		\$1,976.00
50	Additional Weed and Trash Service for NW 19 St medians from NW 31 Ave to NW 3400	11	each	\$16.00	\$176.00		\$418.00
51	Pre-Emergent Service for NW 19 St medians from NW 31 Ave to NW 3400 Blk	1	each	\$45.00	\$45.00		\$96.00
52	Fertilizer Service for NW 19 St medians from NW 31 Ave to NW 3400 Blk	2	each	\$250.00	\$500.00		\$192.00
53	Mulching Service for NW 19 St medians from NW 31 Ave to NW 3400 Blk	2	each	\$55.00	\$110.00		\$68.00
54	Mow Service for NW 13th Street medians from NW 9 Ave/Powerline Rd to Andrews Ave	26	each	\$62.00	\$1,612.00	\$304.00	\$7,904.00
55	Hedge Service for NW 13th Street medians from NW 9 Ave/Powerline Rd to Andrews A	15	each	\$0.00	\$0.00	\$35.00	\$525.00
56	Additional Weed and Trash Service for NW 13th Street medians from NW 9 Ave/Power	11	each	\$16.00	\$176.00		\$418.00
57	Pre-Emergent Service for NW 13th Street medians from NW 9 Ave/Powerline Rd to An	1	each	\$37.50	\$37.50		\$144.00
58	Fertilizer Service for NW 13th Street medians from NW 9 Ave/Powerline Rd to Andr	2	each	\$250.00	\$500.00		\$288.00
59	Mulching Service for NW 13th Street medians from NW 9 Ave/Powerline Rd to Andrew	2	each	\$110.00	\$220.00	\$170.00	\$340.00
60	Mow Service for Palm Aire Village EntrancewaysNW 65 Drive & NW 31 Ave both sid	26	each	\$93.00	\$2,418.00	\$304.00	\$7,904.00
61	Hedge Service for Palm Aire Village EntrancewaysNW 65 Drive & NW 31 Ave both s	15 11	each	\$31.00 \$16.00	\$465.00	-	\$4,560.00
62	Additional Weed and Trash Service for Palm Aire Village EntrancewaysNW 65 Drive  Pre-Emergent Service for Palm Aire Village EntrancewaysNW 65 Drive & NW 31 Ave	1	each each	\$16.00 \$37.50	\$176.00 \$37.50		\$418.00 \$96.00
64	Fertilizer Service for Palm Aire Village EntrancewaysNW 65 Drive & NW 31 Ave b	2	each	\$100.00	\$200.00		\$192.00
65	Mulching Service for Palm Aire Village EntrancewaysNW 65 Drive & NW 31 Ave bot	2	each	\$44.00	\$88.00		\$425.00
	1 0	·		, 50	722.00	,	, :==::30

66	Mow Service for Palm Aire Village Canal EndsNW 63 St from NW 33 Way to NW 34 Av	26	each	\$31.00	\$806.00	\$152.00	\$3,952.00
67	Hedge Service for Palm Aire Village Canal EndsNW 63 St from NW 33 Way to NW 34	15	each	\$15.50	\$232.50	\$76.00	\$1,140.00
68	Additional Weed and Trash Service for Palm Aire Village Canal EndsNW 63 St from	11	each	\$16.00	\$176.00	\$38.00	\$418.00
69	Pre-Emergent Service for Palm Aire Village Canal EndsNW 63 St from NW 33 Way to	1	each	\$37.50	\$37.50	\$144.00	\$144.00
70	Fertilizer Service for Palm Aire Village Canal EndsNW 63 St from NW 33 Way to N	2	each	\$100.00	\$200.00	\$144.00	\$288.00
71	Mulching Service for Palm Aire Village Canal EndsNW 63 St from NW 33 Way to NW	2	each	\$33.00	\$66.00	\$127.50	\$255.00
72	Mow Service for Palm Aire Entrance NW McNab Road swale on south side from NW 3	26	each	\$248.00	\$6,448.00	\$760.00	\$19,760.00
73	Hedge Service for Palm Aire Entrance NW McNab Road swale on south side from NW	15	each	\$992.00	\$14,880.00	\$1,216.00	\$18,240.00
74	Additional Weed and Trash Service for Palm Aire Entrance NW McNab Road swale o	11	each	\$64.00	\$704.00	\$76.00	\$836.00
75	Pre-Emergent Service for Palm Aire Entrance NW McNab Road swale on south side	1	each	\$150.00	\$150.00	\$288.00	\$288.00
76	Fertilizer Service for Palm Aire Entrance NW McNab Road swale on south side fr	2	each	\$500.00	\$1,000.00	\$288.00	\$576.00
77	Mulching Service for Palm Aire Entrance NW McNab Road swale on south side from	2	each	\$440.00	\$880.00	\$595.00	\$1,190.00
78	Mow Service for NW 12 Av/Orioles Blvd medians from NW 56 St to NW 62 St/Cypress	26	each	\$31.00	\$806.00	\$152.00	\$3,952.00
80	Additional Weed and Trash Service for NW 12 Av/Orioles Blvd medians from NW 56 S	11	each	\$16.00	\$176.00	\$38.00	\$418.00
81	Pre-Emergent Service for NW 12 Av/Orioles Blvd medians from NW 56 St to NW 62 St	1	each	\$37.50	\$37.50	\$144.00	\$144.00
82	Fertilizer Service for NW 12 Av/Orioles Blvd medians from NW 56 St to NW 62 St/C	2	each	\$100.00	\$200.00	\$144.00	\$288.00
84	Mow Service for NW 31 Ave medians from Commercial Blvd to McNab Rd	26	each	\$496.00	\$12,896.00	\$456.00	\$11,856.00
86	Additional Weed and Trash Service for NW 31 Ave medians from Commercial Blvd to	11	each	\$64.00	\$704.00	\$76.00	\$836.00
87	Pre-Emergent Service for NW 31 Ave medians from Commercial Blvd to McNab Rd	1	each	\$150.00	\$150.00	\$384.00	\$384.00
88	Fertilizer Service for NW 31 Ave medians from Commercial Blvd to McNab Rd	2	each	\$400.00	\$800.00	\$384.00	\$768.00
89	Mulching Service for NW 31 Ave medians from Commercial Blvd to McNab Rd	2	each	\$302.50	\$605.00	\$212.50	\$425.00
90	Mow Service for McNab Road medians from NW 31 Ave to NW 21 Ave	26	each	\$372.00	\$9,672.00	\$456.00	\$11,856.00
91	Hedge Service for McNab Road medians from NW 31 Ave to NW 21 Ave	15	each	\$744.00	\$11,160.00	\$35.00	\$525.00
92	Additional Weed and Trash Service for McNab Road medians from NW 31 Ave to NW 21	11	each	\$32.00	\$352.00	\$76.00	\$836.00
93	Pre-Emergent Service for McNab Road medians from NW 31 Ave to NW 21 Ave	1	each	\$75.00	\$75.00	\$192.00	\$192.00
94	Fertilizer Service for McNab Road medians from NW 31 Ave to NW 21 Ave	2	each	\$1,750.00	\$3,500.00	\$192.00	\$384.00
95	Mulching Service for McNab Road medians from NW 31 Ave to NW 21 Ave	2	each	\$275.00	\$550.00	\$297.50	\$595.00
96	Mow Service for NW 21 Ave from NW 62 St/Cypress Creek Rd to McNab Rd west side	26	each	\$31.00	\$806.00	\$760.00	\$19,760.00
97	Hedge Service for NW 21 Ave from NW 62 St/Cypress Creek Rd to McNab Rd west sid	15	each	\$124.00	\$1,860.00	\$304.00	\$4,560.00
98	Additional Weed and Trash Service for NW 21 Ave from NW 62 St/Cypress Creek Rd t	11	each	\$16.00	\$176.00	\$76.00	\$836.00
99	Pre-Emergent Service for NW 21 Ave from NW 62 St/Cypress Creek Rd to McNab Rd w	1	each	\$37.50	\$37.50	\$192.00	\$192.00
100	Fertilizer Service for NW 21 Ave from NW 62 St/Cypress Creek Rd to McNab Rd wes	2	each	\$250.00	\$500.00	\$192.00	\$384.00
101	Mulching Service for NW 21 Ave from NW 62 St/Cypress Creek Rd to McNab Rd west	2	each	\$165.00	\$330.00	\$212.50	\$425.00
102	Mow service for 625 NW 2 Ave Water Tower	26	each	\$62.00	\$1,612.00	\$152.00	\$3,952.00
103	Hedge Service for 625 NW 2 Ave Water Tower	15	each	\$31.00	\$465.00	\$19.00	\$285.00
104	Additional Weed and Trash Service for 625 NW 2 Ave Water Tower	11	each	\$16.00	\$176.00	\$38.00	\$418.00
105	Pre-Emergent Service for 625 NW 2 Ave Water Tower	1	each	\$75.00	\$75.00	\$96.00	\$96.00
106	Fertilizer Service for 625 NW 2 Ave Water Tower	2	each	\$250.00	\$500.00	\$96.00	\$192.00
107	Mulching Service for 625 NW 2 Ave Water Tower	2	each	\$27.50	\$55.00	\$96.00	\$192.00
108	Mow Service for Mobility HubNW Flagler Ave from NW 2 St to NW 4 St.NW 2 St fro	26	each	\$248.00	\$6,448.00	\$304.00	\$7,904.00
109	Hedge Service for Mobility HubNW Flagler Ave from NW 2 St to NW 4 St.NW 2 St f	15	each	\$62.00	\$930.00	\$608.00	\$9,120.00
110	Additional Weed and Trash Service for Mobility HubNW Flagler Ave from NW 2 St t	11	each	\$32.00	\$352.00	\$152.00	\$1,672.00
111	Pre-Emergent Service for Mobility HubNW Flagler Ave from NW 2 St to NW 4 St.NW	1	each	\$150.00	\$150.00	\$384.00	\$384.00
112	Fertilizer Service for Mobility HubNW Flagler Ave from NW 2 St to NW 4 St.NW 2	2	each	\$400.00	\$800.00	\$384.00	\$768.00
113	Mulching Service for Mobility HubNW Flagler Ave from NW 2 St to NW 4 St.NW 2 S	2	each	\$440.00	\$880.00	\$2,380.00	\$4,760.00
	TOTAL				\$180,363.00		\$350,881.00

## CITY OF FORT LAUDERDALE BID TABULATION

Bid #12753-033

TITLE: Turf Grass Maintenance For City Quadrants: NW SW NE And SE (LOT: SW)

OPENED: 1/5/2023

	D: 1/5/2023		1	V:l		05140	
Vendor				Visualsca		SFM Service	
Location P-Card					ni, FL //C		ni, FL isa
Item #	Itam	Qty	Unit	Price	Total	Price	Total
1	Mow Service for Broward Blvd medians from I-95 to 441	26	each	\$99.00	\$2,574.00	\$2,880.00	\$74,880.00
2	Hedge Service for Broward Blvd medians from I-95 to 441	15	each	\$528.00	\$7,920.00	\$288.00	\$4,320.00
3	Additional Weed and Trash Service for Broward Blvd medians from I-95 to 441	11	each	\$64.00	\$704.00	\$288.00	\$3,168.00
4	Pre-Emergent Service for Broward Blvd medians from I-95 to 441	1	each	\$300.00	\$300.00	\$864.00	\$864.00
5	Fertilizer Service for Broward Blvd medians from I-95 to 441	2	each	\$500.00	\$1,000.00	\$864.00	\$1,728.00
6	Mulching Service for Broward Blvd medians from I-95 to 441	2	each	\$2,062.50	\$4,125.00	\$2,380.00	\$4,760.00
7	Mow Service for W Broward Blvd & I-95 ROWs & Swales including SW 22 Ave & SW 1 C	26	each	\$66.00	\$1,716.00	\$72.00	\$1,872.00
8	Hedge Service for W Broward Blvd & I-95 ROWs & Swales including SW 22 Ave & SW 1	15	each	\$66.00	\$990.00	\$72.00	\$1,080.00
9	Additional Weed and Trash Service for W Broward Blvd & I-95 ROWs & Swales include	11	each	\$16.00	\$176.00	\$36.00	\$396.00
10	Pre-Emergent Service for W Broward Blvd & I-95 ROWs & Swales including SW 22 Ave	1	each	\$75.00	\$75.00	\$48.00	\$48.00
11	Fertilizer Service for W Broward Blvd & I-95 ROWs & Swales including SW 22 Ave &	2	each	\$200.00	\$400.00	\$48.00	\$96.00
12	Mulching Service for W Broward Blvd & I-95 ROWs & Swales including SW 22 Ave & S	2	each	\$82.50	\$165.00	\$892.50	\$1,785.00
13	Mow Service for Broward Blvd medians from I-95 to Andrews Ave	26	each	\$66.00	\$1,716.00	\$792.00	\$20,592.00
14 15	Hedge Service for Broward Blvd medians from I-95 to Andrews Ave  Additional Weed and Trash Service for Broward Blvd medians from I-95 to Andrews	15 11	each each	\$132.00 \$32.00	\$1,980.00 \$352.00	\$1,008.00 \$72.00	\$15,120.00 \$792.00
16	Pre-Emergent Service for Broward Blvd medians from I-95 to Andrews Ave	1	each	\$150.00	\$150.00	\$384.00	\$384.00
17	Fertilizer Service for Broward Blvd medians from I-95 to Andrews Ave	2	each	\$400.00	\$800.00	\$384.00	\$768.00
18	Mulching Service for Broward Blvd medians from I-95 to Andrews Ave	2	each	\$220.00	\$440.00	\$297.50	\$595.00
19	Mow Service for Davie Blvd medians swales and ROW from Andrews to 441 and neig	26	each	\$792.00	\$20,592.00	\$2,160.00	\$56,160.00
20	Hedge Service for Davie Blvd medians swales and ROW from Andrews to 441 and ne	15	each	\$330.00	\$4,950.00	\$504.00	\$7,560.00
21	Additional Weed and Trash Service for Davie Blvd medians swales and ROW from A	11	each	\$64.00	\$704.00	\$288.00	\$3,168.00
22	Pre-Emergent Service for Davie Blvd medians swales and ROW from Andrews to 441	1	each	\$300.00	\$300.00	\$2,400.00	\$2,400.00
23	Fertilizer Service for Davie Blvd medians swales and ROW from Andrews to 441 a	2	each	\$750.00	\$1,500.00	\$2,400.00	\$4,800.00
24	Mulching Service for Davie Blvd medians swales and ROW from Andrews to 441 and	2	each	\$2,062.50	\$4,125.00	\$1,785.00	\$3,570.00
25	Mow Service for State Road 7/441 medians from Riverland Road to Davie Blvc	26	each	\$264.00	\$6,864.00	\$432.00	\$11,232.00
27	Additional Weed and Trash Service for State Road 7/441 medians from Riverland Rc	11	each	\$16.00	\$176.00	\$36.00	\$396.00
28	Pre-Emergent Service for State Road 7/441 medians from Riverland Road to Davie E	1	each	\$75.00	\$75.00	\$288.00	\$288.00
29	Fertilizer Service for State Road 7/441 medians from Riverland Road to Davie Blv	2	each	\$400.00	\$800.00	\$288.00	\$576.00
30	Mulching Service for State Road 7/441 medians from Riverland Road to Davie Blvc  Mow Service for State Road 84 medians ROWS and swales from I-95 to Andrews Ave	2 26	each	\$440.00 \$660.00	\$880.00 \$17,160.00	\$212.50 \$1,944.00	\$425.00 \$50,544.00
32	Hedge Service for State Road 84 medians ROWS and swales from I-95 to Andrews Ave	15	each each	\$264.00	\$3,960.00	\$792.00	\$11,880.00
33	Additional Weed and Trash Service for State Road 84 medians ROWS and swales from	11	each	\$64.00	\$704.00	\$288.00	\$3,168.00
34	Pre-Emergent Service for State Road 84 medians ROWS and swales from I-95 to Andı	1	each	\$600.00	\$600.00	\$576.00	\$576.00
35	Fertilizer Service for State Road 84 medians ROWS and swales from I-95 to Andrew	2	each	\$600.00	\$1,200.00	\$576.00	\$1,152.00
36	Mulching Service for State Road 84 medians ROWS and swales from I-95 to Andrews	2	each	\$825.00	\$1,650.00	\$892.50	\$1,785.00
37	Mow Service for SW 4 Ave medians from SW 9 St. to SW 34 Avenuε	26	each	\$396.00	\$10,296.00	\$1,008.00	\$26,208.00
38	Hedge Service for SW 4 Ave medians from SW 9 St. to SW 34 Avenue	15	each	\$16.50	\$247.50	\$36.00	\$540.00
39	Additional Weed and Trash Service for SW 4 Ave medians from SW 9 St. to SW 34 Av	11	each	\$32.00	\$352.00	\$144.00	\$1,584.00
40	Pre-Emergent Service for SW 4 Ave medians from SW 9 St. to SW 34 Avenue	1	each	\$150.00	\$150.00	\$1,440.00	\$1,440.00
41	Fertilizer Service for SW 4 Ave medians from SW 9 St. to SW 34 Avenuε	2	each	\$400.00	\$800.00		\$2,880.00
	Mulching Service for SW 4 Ave medians from SW 9 St. to SW 34 Avenue	2	each	\$1,237.50	\$2,475.00		
43	Mow Service for SW 2 Ave medians from State Road 84 to SW 33 St	26	each	\$132.00	\$3,432.00	\$360.00	\$9,360.00
45 46	Additional Weed and Trash Service for SW 2 Ave medians from State Road 84 to SW  Pre-Emergent Service for SW 2 Ave medians from State Road 84 to SW 33 St	11	each	\$16.00 \$75.00	\$176.00 \$75.00	\$36.00 \$288.00	\$396.00 \$288.00
47	Fertilizer Service for SW 2 Ave medians from State Road 84 to SW 33 SI	2	each each	\$200.00	\$400.00	\$288.00	\$576.00
49	Mow Service for SW 17 Street medians from Andrews Ave to SW 4 Ave	26	each	\$33.00	\$858.00	\$144.00	\$3,744.00
50	Hedge Service for SW 17 Street medians from Andrews Ave to SW 4 Ave	15	each	\$16.50	\$247.50	\$36.00	\$540.00
51	Additional Weed and Trash Service for SW 17 Street medians from Andrews Ave to	11	each	\$16.00	\$176.00	\$36.00	\$396.00
52	Pre-Emergent Service for SW 17 Street medians from Andrews Ave to SW 4 Ave	1	each	\$37.50	\$37.50	\$288.00	\$288.00
53	Fertilizer Service for SW 17 Street medians from Andrews Ave to SW 4 Ave	2	each	\$100.00	\$200.00	\$288.00	\$576.00
54	Mulching Service for SW 17 Street medians from Andrews Ave to SW 4 Ανε	2	each	\$82.50	\$165.00	\$63.75	\$127.50
55	Mow Service for SW 28 Way canal end at SW 17 Street	26	each	\$16.50	\$429.00	\$72.00	\$1,872.00
56	Mow Service for SW 6 St medians between Riverland Rd and Riverland Dr	26	each	\$66.00	\$1,716.00	\$36.00	\$936.00
57	Hedge Service for SW 6 St medians between Riverland Rd and Riverland Di	15	each	\$33.00	\$495.00	\$36.00	\$540.00
58	Additional Weed and Trash Service for SW 6 St medians between Riverland Rd and F	11	each	\$16.00	\$176.00	\$36.00	\$396.00
59	Pre-Emergent Service for SW 6 St medians between Riverland Rd and Riverland Dr	1	each	\$75.00	\$75.00	\$48.00	\$48.00
60	Fertilizer Service for SW 6 St medians between Riverland Rd and Riverland D	2	each	\$100.00	\$200.00	\$48.00	\$96.00
61	Mulching Service for SW 6 St medians between Riverland Rd and Riverland Dr	26	each	\$77.00 \$66.00	\$154.00 \$1.716.00	\$127.50	\$255.00
62	Mow Service for SW 2 St medians from SW 31 Ave to SW 30 Ave and SW 30 Ave from S Hedge Service for SW 2 St medians from SW 31 Ave to SW 30 Ave and SW 30 Ave from	26 15	each each	\$66.00 \$28.00	\$1,716.00 \$420.00	\$144.00 \$36.00	\$3,744.00 \$540.00
64	Additional Weed and Trash Service for SW 2 St medians from SW 31 Ave to SW 30 Av	11	each	\$16.00	\$176.00	\$36.00	\$340.00
	The state of the s		23011	710.00	Ψ1, 0.00	750.00	Ç330.00

		_					
65	Pre-Emergent Service for SW 2 St medians from SW 31 Ave to SW 30 Ave and SW 30 A	1	each	\$37.50	\$37.50	\$144.00	\$144.00
66	Fertilizer Service for SW 2 St medians from SW 31 Ave to SW 30 Ave and SW 30 Ave	2	each	\$100.00	\$200.00	\$144.00	\$288.00
67	Mulching Service for SW 2 St medians from SW 31 Ave to SW 30 Ave and SW 30 Ave 1	2	each	\$27.50	\$55.00	\$127.50	\$255.00
68	Mow Service for SW 11 Court medians from Andrews Ave to RR tracks RR tracks to	26	each	\$33.00	\$858.00	\$432.00	\$11,232.00
70	Additional Weed and Trash Service for SW 11 Court medians from Andrews Ave to RF	11	each	\$16.00	\$176.00	\$36.00	\$396.00
71	Pre-Emergent Service for SW 11 Court medians from Andrews Ave to RR tracks RR t	1	each	\$75.00	\$75.00	\$288.00	\$288.00
72	Fertilizer Service for SW 11 Court medians from Andrews Ave to RR tracks RR tra	2	each	\$200.00	\$400.00	\$288.00	\$576.00
73	Mulching Service for SW 11 Court medians from Andrews Ave to RR tracks RR track	2	each	\$110.00	\$220.00	\$595.00	\$1,190.00
74	Mow Service for West Park Drive medians from SW 4 Ave to Park Lane and the triar	26	each	\$16.50	\$429.00	\$432.00	\$11,232.00
76	Additional Weed and Trash Service for West Park Drive medians from SW 4 Ave to F	11	each	\$16.00	\$176.00	\$36.00	\$396.00
77	Pre-Emergent Service for West Park Drive medians from SW 4 Ave to Park Lane and	1	each	\$75.00	\$75.00	\$192.00	\$192.00
78	Fertilizer Service for West Park Drive medians from SW 4 Ave to Park Lane and th	2	each	\$200.00	\$400.00	\$192.00	\$384.00
79	Mulching Service for West Park Drive medians from SW 4 Ave to Park Lane and the	2	each	\$110.00	\$220.00	\$212.50	\$425.00
80	Mow Service for SW 15 Ave medians from SW 14 Ct to SW 16 St dead end/seawall at	26	each	\$33.00	\$858.00	\$288.00	\$7,488.00
81	Hedge Service for SW 15 Ave medians from SW 14 Ct to SW 16 St dead end/seawal	15	each	\$8.25	\$123.75	\$288.00	\$4,320.00
82	Additional Weed and Trash Service for SW 15 Ave medians from SW 14 Ct to SW 16 S	11	each	\$16.00	\$176.00	\$36.00	\$396.00
83	Pre-Emergent Service for SW 15 Ave medians from SW 14 Ct to SW 16 St dead end/s	1	each	\$37.50	\$37.50	\$240.00	\$240.00
84	Fertilizer Service for SW 15 Ave medians from SW 14 Ct to SW 16 St dead end/sea	2	each	\$100.00	\$200.00	\$240.00	\$480.00
85	Mulching Service for SW 15 Ave medians from SW 14 Ct to SW 16 St dead end/seawa	2	each	\$55.00	\$110.00	\$595.00	\$1,190.00
86	Mow Service for SW 36 Terrace medians from SW 16 St to SW 17 St	26	each	\$16.50	\$429.00	\$144.00	\$3,744.00
87	Hedge Service for SW 36 Terrace medians from SW 16 St to SW 17 St	15	each	\$8.25	\$123.75	\$72.00	\$1,080.00
88	Additional Weed and Trash Service for SW 36 Terrace medians from SW 16 St to SW	11	each	\$8.00	\$88.00	\$36.00	\$396.00
89	Pre-Emergent Service for SW 36 Terrace medians from SW 16 St to SW 17 St	1	each	\$37.50	\$37.50	\$192.00	\$192.00
90	Fertilizer Service for SW 36 Terrace medians from SW 16 St to SW 17 St	2	each	\$50.00	\$100.00	\$192.00	\$384.00
91	Mulching Service for SW 36 Terrace medians from SW 16 St to SW 17 St	2	each	\$55.00	\$110.00	\$212.50	\$425.00
92	Mow Service for 220 SW 14 Ave - Parks Compound	26	each	\$528.00	\$13,728.00	\$1,296.00	\$33,696.00
93	Hedge Service for 220 SW 14 Ave - Parks Compound	15	each	\$264.00	\$3,960.00	\$576.00	\$8,640.00
94	Additional Weed and Trash Service for 220 SW 14 Ave - Parks Compound	11	each	\$64.00	\$704.00	\$108.00	\$1,188.00
95	Pre-Emergent Service for 220 SW 14 Ave - Parks Compound	1	each	\$300.00	\$300.00	\$144.00	\$144.00
96	Fertilizer Service for 220 SW 14 Ave - Parks Compound	2	each	\$400.00	\$800.00	\$144.00	\$288.00
97	Mulching Service for 220 SW 14 Ave - Parks Compound	2	each	\$825.00	\$1,650.00	\$595.00	\$1,190.00
98	Mow Service for 1350 W Broward Blvd - City Admin Lot	26	each	\$264.00	\$6,864.00	\$504.00	\$13,104.00
99	Hedge Service for 1350 W Broward Blvd - City Admin Lot	15	each	\$132.00	\$1,980.00	\$288.00	\$4,320.00
100	Additional Weed and Trash Service for 1350 W Broward Blvd - City Admin Lot	11	each	\$32.00	\$352.00	\$36.00	\$396.00
101	Pre-Emergent Service for 1350 W Broward Blvd - City Admin Lot	1	each	\$300.00	\$300.00	\$192.00	\$192.00
102	Fertilizer Service for 1350 W Broward Blvd - City Admin Lot	2	each	\$300.00	\$600.00	\$192.00	\$384.00
103	Mulching Service for 1350 W Broward Blvd - City Admin Lot	2	each	\$110.00	\$220.00	\$297.50	\$595.00
104	Mow Service for 1300 W Broward Blvd - Police Department including tower	26	each	\$660.00	\$17,160.00	\$792.00	\$20,592.00
105	Hedge Service for 1300 W Broward Blvd - Police Department including tower	15	each	\$528.00	\$7,920.00	\$36.00	\$540.00
106	Additional Weed and Trash Service for 1300 W Broward Blvd - Police Department ir	11	each	\$64.00	\$704.00	\$72.00	\$792.00
107	Pre-Emergent Service for 1300 W Broward Blvd - Police Department including tower	1	each	\$450.00	\$450.00	\$240.00	\$240.00
108	Fertilizer Service for 1300 W Broward Blvd - Police Department including tower	2	each	\$500.00	\$1,000.00	\$240.00	\$480.00
109	Mulching Service for 1300 W Broward Blvd - Police Department including tower	2	each	\$1,650.00	\$3,300.00	\$595.00	\$1,190.00
110	Mow Service for 1500 SW 1 St - Police Confiscation Lot (behind Police Parking Lo	26	each	\$396.00	\$10,296.00	\$504.00	\$13,104.00
111	Hedge Service for 1500 SW 1 St - Police Confiscation Lot (behind Police Parking	15	each	\$132.00	\$1,980.00	\$576.00	\$8,640.00
112	Additional Weed and Trash Service for 1500 SW 1 St - Police Confiscation Lot (be	11	each	\$32.00	\$352.00	\$72.00	\$792.00
113	Pre-Emergent Service for 1500 SW 1 St - Police Confiscation Lot (behind Police P	1	each	\$150.00	\$150.00	\$240.00	\$240.00
116	Mow Service for SW 14 Ave swale on west side from SW 3 Ct to 425 SW 14 Ave	26	each	\$8.25	\$214.50	\$144.00	\$3,744.00
118	Additional Weed and Trash Service for SW 14 Ave swale on west side from SW 3 C1	11	each	\$8.00	\$88.00	\$36.00	\$396.00
119	Pre-Emergent Service for SW 14 Ave swale on west side from SW 3 Ct to 425 SW 14	1	each	\$37.50	\$37.50	\$144.00	\$144.00
120	Fertilizer Service for SW 14 Ave swale on west side from SW 3 Ct to 425 SW 14 A	2	each	\$25.00	\$50.00	\$144.00	\$288.00
122	Mow Service for SW 37 Ave and SW 14 St street-end	26	each	\$8.25	\$214.50	\$36.00	\$936.00
123	Additional Weed and Trash Service for SW 37 Ave and SW 14 St street-end	11	each	\$8.00	\$88.00	\$36.00	\$396.00
124	Pre-Emergent Service for SW 37 Ave and SW 14 St street-end	1	each	\$37.50	\$37.50	\$48.00	\$48.00
127	Mow Service for SW 38 Ave and SW 14 St street-end	26	each	\$8.25	\$214.50	\$36.00	\$936.00
128	Additional Weed and Trash Service for SW 38 Ave and SW 14 St street-enc	11	each	\$8.00	\$88.00	\$36.00	\$396.00
129	Pre-Emergent Service for SW 38 Ave and SW 14 St street-end	1	each	\$37.50	\$37.50	\$48.00	\$48.00
132	Mow Service for SW 6 Ave ROW between SW 10 St - 11 St	26	each	\$33.00	\$858.00	\$504.00	\$13,104.00
133	Hedge Service for SW 6 Ave ROW between SW 10 St - 11 St	15	each	\$33.00	\$495.00	\$144.00	\$2,160.00
134	Additional Weed and Trash Service for SW 6 Ave ROW between SW 10 St - 11 St	11	each	\$16.00	\$176.00	\$36.00	\$396.00
135	Pre-Emergent Service for SW 6 Ave ROW between SW 10 St - 11 St	1	each	\$37.50	\$37.50	\$288.00	\$288.00
136	Fertilizer Service for SW 6 Ave ROW between SW 10 St - 11 St	2	each	\$200.00	\$400.00	\$288.00	\$576.00
137	Mulching Service for SW 6 Ave ROW between SW 10 St - 11 St	2	each	\$192.50	\$385.00	\$595.00	\$1,190.00
138	Mow Service for Coconut Dr swale/seawall hedge service at SW 9 St street-end	15	each	\$16.50	\$247.50	\$72.00	\$1,080.00
139	Additional Weed and Trash Service for Coconut Dr swale/seawall hedge service at	11	each	\$8.00	\$88.00	\$36.00	\$396.00
140	Pre-Emergent Service for Coconut Dr swale/seawall hedge service at SW 9 St stree	1	each	\$37.50	\$37.50	\$96.00	\$96.00
141	Fertilizer Service for Coconut Dr swale/seawall hedge service at SW 9 St street-	2	each	\$50.00	\$100.00	\$96.00	\$192.00
142	Mulching Service for Coconut Dr swale/seawall hedge service at SW 9 St street-en	2	each	\$55.00	\$110.00	\$255.00	\$510.00
143	Mow Service for 415 SW 9 St and 4 Ave Pump Station A-40	26	each	\$8.25	\$214.50	\$36.00	\$936.00
	i i i i i i i i i i i i i i i i i i i			, -:	,	,	,

144	Mow Service for 626 SW 3 Ave Pump Station A-42	26	each	\$8.25	\$214.50	\$36.00	\$936.00
145	Mow Service for SW 26 St and SW 6 Ave Pump Station A-39	26	each	\$8.25	\$214.50	\$36.00	\$936.00
146	Mow Service for 2301 Okeechobee Lane Pump Station C-1	26	each	\$8.25	\$214.50	\$36.00	\$936.00
	TOTAL				\$202,815.00		\$541,028.50

## TITLE: Turf Grass Maintenance For City Quadrants: NW SW NE And SE (LOT: NE)

OPENED: 1/5/2023

Vendor	: 1/5/2023	1	1	Visualsca	ne Inc	SFM Service	s Inc
Location					mi, FL		mi, FL
P-Card					MC		/isa
Item #	Item	Qty	Unit	Price	Total	Price	Total
1	Mow Service for 100 N Andrews Ave - City Hall	26	each	\$54.00	\$1,404.00	\$70.00	\$1,820.00
2	Hedge Service for 100 N Andrews Ave - City Hall	15	each	\$448.00	\$6,720.00	\$630.00	\$9,450.00
3	Additional Weed and Trash Service for 100 N Andrews Ave - City Hall	11	each	\$64.00	\$704.00		\$385.00
4	Pre-Emergent Service for 100 N Andrews Ave - City Hall	1	each	\$37.50	\$37.50		\$96.00
5	Fertilizer Service for 100 N Andrews Ave - City Hall	2	each	\$150.00	\$300.00	-	\$192.00
6	Mulching Service for 100 N Andrews Ave - City Hall	2	each	\$192.50	\$385.00		\$2,125.00
8	Hedge Service for 200 NE 2 St - City Hall Parking Garage Additional Weed and Trash Service for 200 NE 2 St - City Hall Parking Garage	15 11	each each	\$224.00 \$32.00	\$3,360.00 \$352.00	\$380.00 \$38.00	\$5,700.00 \$418.00
10	Pre-Emergent Service for 200 NE 2 St - City Hall Parking Garage	1	each	\$37.50	\$37.50		\$48.00
11	Fertilizer Service for 200 NE 2 St - City Hall Parking Garage	2	each	\$100.00	\$200.00	-	\$96.00
12	Mulching Service for 200 NE 2 St - City Hall Parking Garage	2	each	\$192.50	\$385.00		\$425.00
13	Mow Service for N Federal Hwy medians from Broward Blvd to Federal Hwy/Sunrise B	26	each	\$162.00	\$4,212.00		\$3,952.00
14	Hedge Service for N Federal Hwy medians from Broward Blvd to Federal Hwy/Sunrise	15	each	\$56.00	\$840.00	\$76.00	\$1,140.00
15	Additional Weed and Trash Service for N Federal Hwy medians from Broward Blvd to	11	each	\$64.00	\$704.00	\$38.00	\$418.00
16	Pre-Emergent Service for N Federal Hwy medians from Broward Blvd to Federal Hwy/	1	each	\$75.00	\$75.00	\$48.00	\$48.00
17	Fertilizer Service for N Federal Hwy medians from Broward Blvd to Federal Hwy/Su	2	each	\$250.00	·	-	\$96.00
18	Mulching Service for N Federal Hwy medians from Broward Blvd to Federal Hwy/Sunr	2	each	\$165.00	\$330.00		\$425.00
20	Hedge Service for NE 6 St/Sistrunk Blvd from Andrews Ave to Federal Hwy	15	each	\$672.00	\$10,080.00		\$10,260.00
21	Additional Weed and Trash Service for NE 6 St/Sistrunk Blvd from Andrews Ave to	11	each	\$64.00	\$704.00	\$76.00	\$836.00
22	Pre-Emergent Service for NE 6 St/Sistrunk Blvd from Andrews Ave to Federal Hwy Fertilizer Service for NE 6 St/Sistrunk Blvd from Andrews Ave to Federal Hwy	2	each each	\$150.00 \$500.00	\$150.00 \$1,000.00	\$48.00 \$48.00	\$48.00 \$96.00
24	Mulching Service for NE 6 St/Sistrunk Blvd from Andrews Ave to Federal Hwy	2	each	\$55.00			\$1,020.00
25	Mow Service for N Federal Hwy medians from Federal Hwy/Sunrise Blvd interchange	26	each	\$1,296.00	\$33,696.00	_	\$1,976.00
26	Hedge Service for N Federal Hwy medians from Federal Hwy/Sunrise Blvd interchang	15	each	\$1,792.00	\$26,880.00		\$10,260.00
27	Additional Weed and Trash Service for N Federal Hwy medians from Federal Hwy/Sun	11	each	\$256.00	\$2,816.00		\$836.00
28	Pre-Emergent Service for N Federal Hwy medians from Federal Hwy/Sunrise Blvd int	1	each	\$600.00	\$600.00	-	\$48.00
29	Fertilizer Service for N Federal Hwy medians from Federal Hwy/Sunrise Blvd inter	2	each	\$1,000.00	\$2,000.00	\$48.00	\$96.00
30	Mulching Service for N Federal Hwy medians from Federal Hwy/Sunrise Blvd interch	2	each	\$2,062.50	\$4,125.00	\$106.25	\$212.50
31	Mow Service for N Federal Hwy medians from Oakland Park Blvd to NE 65 St/Port Ro	26	each	\$432.00			\$27,664.00
32	Hedge Service for N Federal Hwy medians from Oakland Park Blvd to NE 65 St/Port	15	each	\$336.00			\$4,560.00
33	Additional Weed and Trash Service for N Federal Hwy medians from Oakland Park Bl	11	each	\$128.00	\$1,408.00		\$1,672.00
34	Pre-Emergent Service for N Federal Hwy medians from Oakland Park Blvd to NE 65 S	1	each	\$150.00	\$150.00	\$48.00	\$48.00
35 36	Fertilizer Service for N Federal Hwy medians from Oakland Park Blvd to NE 65 St/ Mulching Service for N Federal Hwy medians from Oakland Park Blvd to NE 65 St/Po	2 2	each each	\$300.00 \$1,237.50	\$600.00 \$2,475.00		\$96.00 \$2,125.00
37	Mow Service for NE 4 Ave medians from Sunrise Blvd to South Middle River/NE 18 S	26	each	\$27.00	\$702.00		\$3,952.00
38	Hedge Service for NE 4 Ave medians from Sunrise Blvd to South Middle River/NE 18	15	each	\$224.00	\$3,360.00		\$10,260.00
39	Additional Weed and Trash Service for NE 4 Ave medians from Sunrise Blvd to Sout	11	each	\$32.00	\$352.00	_	\$836.00
40	Pre-Emergent Service for NE 4 Ave medians from Sunrise Blvd to South Middle Rive	1	each	\$75.00	\$75.00	-	\$192.00
41	Fertilizer Service for NE 4 Ave medians from Sunrise Blvd to South Middle River/	2	each	\$250.00	\$500.00	\$192.00	\$384.00
42	Mulching Service for NE 4 Ave medians from Sunrise Blvd to South Middle River/NE	2	each	\$825.00	\$1,650.00	\$850.00	\$1,700.00
43	Mow Service for NE 9 St medians and ROW triangles from Middle River Dr to NE 26	26	each	\$27.00	\$702.00	\$76.00	\$1,976.00
44	Hedge Service for NE 9 St medians and ROW triangles from Middle River Dr to NE 2	15	each	\$280.00	\$4,200.00	\$684.00	\$10,260.00
45	Additional Weed and Trash Service for NE 9 St medians and ROW triangles from Mid	11	each	\$32.00			
46	Pre-Emergent Service for NE 9 St medians and ROW triangles from Middle River Dr Fertilizer Service for NE 9 St medians and ROW triangles from Middle River Dr to	1	each	\$75.00	\$75.00	-	\$96.00
47 48	Mulching Service for NE 9 St medians and ROW triangles from Middle River Dr to N	2	each each	\$400.00 \$22.00	\$800.00 \$44.00		\$192.00 \$2,125.00
49	Mow Service for NE 13 St medians from Andrews Ave to Federal Hwy/US1	26	each	\$108.00	\$2,808.00		\$7,904.00
50	Hedge Service for NE 13 St medians from Andrews Ave to Federal Hwy/US1	15	each	\$84.00	\$1,260.00		\$5,700.00
51	Additional Weed and Trash Service for NE 13 St medians from Andrews Ave to Feder	11	each	\$32.00	\$352.00		\$836.00
52	Pre-Emergent Service for NE 13 St medians from Andrews Ave to Federal Hwy/US1	1	each	\$37.50			\$48.00
53	Fertilizer Service for NE 13 St medians from Andrews Ave to Federal Hwy/US1	2	each	\$300.00	\$600.00	\$48.00	\$96.00
54	Mulching Service for NE 13 St medians from Andrews Ave to Federal Hwy/US1	2	each	\$412.50	\$825.00	\$425.00	\$850.00
55	Mow Service for NE 15 Ave medians from NE 13 St to NE 20 St includes roundabout	26	each	\$216.00	\$5,616.00	\$456.00	\$11,856.00
56	Hedge Service for NE 15 Ave medians from NE 13 St to NE 20 St includes roundabou	15	each	\$336.00	\$5,040.00	\$380.00	\$5,700.00
57	Additional Weed and Trash Service for NE 15 Ave medians from NE 13 St to NE 20 S	11	each	\$64.00	\$704.00	\$152.00	\$1,672.00
58	Pre-Emergent Service for NE 15 Ave medians from NE 13 St to NE 20 St includes ro	1	each	\$150.00	\$150.00		\$48.00
59	Fertilizer Service for NE 15 Ave medians from NE 13 St to NE 20 St includes roun	2	each	\$500.00	\$1,000.00	-	\$96.00
60	Mulching Service for NE 15 Ave medians from NE 13 St to NE 20 St includes rounda	2	each	\$1,650.00	\$3,300.00		\$850.00
61 62	Mow Service for Oakland Park Blvd medians parking ROWs swales from just west o Hedge Service for Oakland Park Blvd medians parking ROWs swales from just west	26 15	each	\$864.00 \$1,344.00	\$22,464.00 \$20,160.00		\$37,544.00 \$20,520.00
63	Additional Weed and Trash Service for Oakland Park Blvd medians parking ROWs s	11	each each	\$1,344.00	\$20,160.00	\$1,368.00	\$20,520.00
64	Pre-Emergent Service for Oakland Park Blvd medians parking ROWs swales from ju	1	each	\$150.00	\$1,408.00		\$48.00
65	Fertilizer Service for Oakland Park Blvd medians parking ROWs swales from just	2	each	\$1,000.00	\$2,000.00	\$48.00	\$96.00
	p			. , , , , , , , , , , ,	, ,	,	, , , , , , ,

		1					
66	Mulching Service for Oakland Park Blvd medians parking ROWs swales from just w	2	each	\$1,650.00	\$3,300.00	\$1,700.00	\$3,400.00
67	Mow Service for NE 26 Ave medians from NE 47 St to NE 49 St	26	each	\$54.00	\$1,404.00	\$76.00	\$1,976.00
68	Hedge Service for NE 26 Ave medians from NE 47 St to NE 49 St	15	each	\$14.00	\$210.00		\$1,140.00
69	Additional Weed and Trash Service for NE 26 Ave medians from NE 47 St to NE 49 S	11	each	\$16.00	\$176.00	\$152.00	\$1,672.00
70	Pre-Emergent Service for NE 26 Ave medians from NE 47 St to NE 49 St	1	each	\$37.50	\$37.50	\$192.00	\$192.00
71	Fertilizer Service for NE 26 Ave medians from NE 47 St to NE 49 St	2	each	\$200.00	\$400.00	\$192.00	\$384.00
72	Mulching Service for NE 26 Ave medians from NE 47 St to NE 49 St	2	each	\$825.00	\$1,650.00	\$85.00	\$170.00
73	Mow Service for Commercial Blvd medians from Dixie Hwy to Intracoastal including	26	each	\$108.00	\$2,808.00		\$27,664.00
74 75	Hedge Service for Commercial Blvd medians from Dixie Hwy to Intracoastal includi  Additional Weed and Trash Service for Commercial Blvd medians from Dixie Hwy to	15 11	each	\$112.00 \$32.00	\$1,680.00 \$352.00	\$1,216.00 \$76.00	\$18,240.00 \$836.00
76	Pre-Emergent Service for Commercial Blvd medians from Dixie Hwy to Intracoastal	1	each each	\$37.50	\$37.50	\$48.00	\$48.00
77	Fertilizer Service for Commercial Blvd medians from Dixie Hwy to Intracoastal in	2	each	\$300.00	\$600.00	\$48.00	\$96.00
78	Mulching Service for Commercial Blvd medians from Dixie Hwy to Intracoastal incl	2	each	\$165.00	\$330.00	\$1,700.00	\$3,400.00
79	Mow Service for NE 18 Ave medians from NE 50 St to NE 65 St	26	each	\$432.00	\$11,232.00	\$266.00	\$6,916.00
80	Hedge Service for NE 18 Ave medians from NE 50 St to NE 65 St	15	each	\$224.00	\$3,360.00		\$4,560.00
81	Additional Weed and Trash Service for NE 18 Ave medians from NE 50 St to NE 65 S	11	each	\$64.00	\$704.00	\$76.00	\$836.00
82	Pre-Emergent Service for NE 18 Ave medians from NE 50 St to NE 65 St	1	each	\$75.00	\$75.00	\$480.00	\$480.00
83	Fertilizer Service for NE 18 Ave medians from NE 50 St to NE 65 St	2	each	\$500.00	\$1,000.00	\$480.00	\$960.00
84	Mulching Service for NE 18 Ave medians from NE 50 St to NE 65 St	2	each	\$412.50	\$825.00	\$637.50	\$1,275.00
85	Mow Service for NE 55 St from Federal Hwy/US1 to Bayview Dr - The Landings entra	26	each	\$324.00	\$8,424.00	\$266.00	\$6,916.00
86	Hedge Service for NE 55 St from Federal Hwy/US1 to Bayview Dr - The Landings ent	15	each	\$224.00	\$3,360.00	\$380.00	\$5,700.00
87	Additional Weed and Trash Service for NE 55 St from Federal Hwy/US1 to Bayview D	11	each	\$64.00	\$704.00	\$76.00	\$836.00
88	Pre-Emergent Service for NE 55 St from Federal Hwy/US1 to Bayview Dr - The Landi	1	each	\$150.00	\$150.00	\$384.00	\$384.00
89	Fertilizer Service for NE 55 St from Federal Hwy/US1 to Bayview Dr - The Landing	2	each	\$400.00	\$800.00	\$384.00	\$768.00
90	Mulching Service for NE 55 St from Federal Hwy/US1 to Bayview Dr - The Landings	2	each	\$412.50	\$825.00	\$425.00	\$850.00
91	Mow Service for Bayview Dr medians from Commercial Blvd to Federal Hwy/US1median	26	each	\$432.00	\$11,232.00	\$380.00	\$9,880.00
92	Hedge Service for Bayview Dr medians from Commercial Blvd to Federal Hwy/US1medi	15	each	\$224.00	\$3,360.00	\$304.00	\$4,560.00
93	Additional Weed and Trash Service for Bayview Dr medians from Commercial Blvd to	11	each	\$32.00	\$352.00	\$38.00	\$418.00
94	Pre-Emergent Service for Bayview Dr medians from Commercial Blvd to Federal Hwy/	1	each	\$75.00	\$75.00	\$192.00	\$192.00
95	Fertilizer Service for Bayview Dr medians from Commercial Blvd to Federal Hwy/US	2	each	\$1,000.00	\$2,000.00	\$192.00	\$384.00
96	Mulching Service for Bayview Dr medians from Commercial Blvd to Federal Hwy/US1m	2	each	\$825.00	\$1,650.00	\$850.00	\$1,700.00
97	Mow Service for Bayview Dr medians from Sunrise Blvd to NE 12 St	26	each	\$27.00	\$702.00	\$76.00	\$1,976.00
98	Hedge Service for Bayview Dr medians from Sunrise Blvd to NE 12 St	15	each	\$56.00	\$840.00	\$304.00	\$4,560.00
99	Additional Weed and Trash Service for Bayview Dr medians from Sunrise Blvd to NE	11	each	\$16.00	\$176.00	\$38.00	\$418.00
100	Pre-Emergent Service for Bayview Dr medians from Sunrise Blvd to NE 12 St	1	each	\$37.50	\$37.50	\$48.00	\$48.00
101	Fertilizer Service for Bayview Dr medians from Sunrise Blvd to NE 12 St	2	each	\$100.00	\$200.00	\$48.00	\$96.00
102	Mulching Service for Bayview Dr medians from Sunrise Blvd to NE 12 St	26	each each	\$55.00 \$216.00	\$110.00 \$5,616.00	\$425.00 \$304.00	\$850.00 \$7,904.00
103	Mow Service for 6001 - 6081 N Federal Hwy - Imperial Point neighborhood entrance Hedge Service for 6001 - 6081 N Federal Hwy - Imperial Point neighborhood entran	15	each	\$216.00	\$3,360.00	\$152.00	\$2,280.00
105	Additional Weed and Trash Service for 6001 - 6081 N Federal Hwy - Imperial Point	11	each	\$32.00	\$352.00	\$114.00	\$1,254.00
106	Pre-Emergent Service for 6001 - 6081 N Federal Hwy - Imperial Point neighborhood	1	each	\$75.00	\$75.00	\$480.00	\$480.00
107	Fertilizer Service for 6001 - 6081 N Federal Hwy - Imperial Point neighborhood e	2	each	\$400.00	\$800.00	\$480.00	\$960.00
108	Mulching Service for 6001 - 6081 N Federal Hwy - Imperial Point neighborhood ent	2	each	\$220.00	\$440.00	\$425.00	\$850.00
109	Mow Service for NE 62 St/Cypress Creek Rd medians and N and S ROWs from Andrews	26	each	\$432.00	\$11,232.00	\$912.00	\$23,712.00
110	Hedge Service for NE 62 St/Cypress Creek Rd medians and N and S ROWs from Andrew	15	each	\$224.00	\$3,360.00	\$608.00	\$9,120.00
111	Additional Weed and Trash Service for NE 62 St/Cypress Creek Rd medians and N an	11	each	\$64.00	\$704.00	\$38.00	\$418.00
112	Pre-Emergent Service for NE 62 St/Cypress Creek Rd medians and N and S ROWs from	1	each	\$75.00	\$75.00	\$384.00	\$384.00
113	Fertilizer Service for NE 62 St/Cypress Creek Rd medians and N and S ROWs from A	2	each	\$300.00	\$600.00	\$384.00	\$768.00
114	Mulching Service for NE 62 St/Cypress Creek Rd medians and N and S ROWs from And	2	each	\$165.00	\$330.00	\$212.50	\$425.00
115	Mow Service for N Dixie Hwy medians north of NE 62 St to City Limit at bridge	26	each	\$27.00	\$702.00	\$76.00	\$1,976.00
117	Additional Weed and Trash Service for N Dixie Hwy medians north of NE 62 St to C	11	each	\$16.00	\$176.00	\$38.00	\$418.00
118	Pre-Emergent Service for N Dixie Hwy medians north of NE 62 St to City Limit at	1	each	\$30.00	\$30.00	\$192.00	\$192.00
119	Fertilizer Service for N Dixie Hwy medians north of NE 62 St to City Limit at b	2	each	\$25.00	\$50.00		\$384.00
120	Mulching Service for N Dixie Hwy medians north of NE 62 St to City Limit at bri	2	each	\$22.00	\$44.00	\$127.50	\$255.00
121	Mow Service for Sebastian St triangle at Seabreeze Blvd and Sebastian St Hedge S	15	each	\$648.00	\$9,720.00	\$76.00	\$1,140.00
122	Additional Weed and Trash Service for Sebastian St triangle at Seabreeze Blvd an	11	each	\$32.00	\$352.00	\$152.00	\$1,672.00
123	Pre-Emergent Service for Sebastian St triangle at Seabreeze Blvd and Sebastian S	1	each	\$37.50	\$37.50	\$288.00	\$288.00
124	Fertilizer Service for Sebastian St triangle at Seabreeze Blvd and Sebastian St	2	each	\$100.00	\$200.00	\$288.00	\$576.00
125	Mulching Service for Sebastian St triangle at Seabreeze Blvd and Sebastian St He	2	each	\$137.50	\$275.00	\$127.50	\$255.00
126 127	Mow Service for A1A/N Ocean Dr medians from Sebastian Street to Oakland Park Bou	15	each	\$3,456.00	\$51,840.00		\$525.00 \$1.254.00
127	Additional Weed and Trash Service for A1A/N Ocean Dr medians from Sebastian Stre  Pre-Emergent Service for A1A/N Ocean Dr medians from Sebastian Street to Oakland	11	each each	\$512.00 \$600.00	\$5,632.00 \$600.00	\$114.00 \$144.00	\$1,254.00 \$144.00
128	Fertilizer Service for A1A/N Ocean Dr medians from Sebastian Street to Oakland P	2	each	\$4,000.00	\$8,000.00	\$144.00	\$144.00
130	Mulching Service for A1A/N Ocean Dr medians from Sebastian Street to Oakland Par	2	each	\$8,250.00	\$16,500.00		\$5,100.00
131	Mow Service for A1A/N Ocean Dr swales from NE 13 Street to NE 18 Street (Hedge S	15	each	\$432.00	\$6,480.00	\$35.00	\$5,100.00
132	Additional Weed and Trash Service for A1A/N Ocean Dr swales from NE 13 Street to	11	each	\$16.00	\$176.00	\$38.00	\$418.00
133	Pre-Emergent Service for A1A/N Ocean Dr swales from NE 13 Street to NE 18 Street	1	each	\$37.50	\$37.50	\$144.00	\$144.00
134	Fertilizer Service for A1A/N Ocean Dr swales from NE 13 Street to NE 18 Street (	2	each	\$500.00	\$1,000.00	\$144.00	\$288.00
135	Mulching Service for A1A/N Ocean Dr swales from NE 13 Street to NE 18 Street (He	2	each	\$412.50	\$825.00	\$1,275.00	\$2,550.00
136	Mow Service for NE 15 Ave medians from NE 4 Ct to NE 6 St	26	each	\$27.00	\$702.00	\$228.00	\$5,928.00
137	Hedge Service for NE 15 Ave medians from NE 4 Ct to NE 6 St	15	each	\$168.00	\$2,520.00	\$608.00	\$9,120.00
138	Additional Weed and Trash Service for NE 15 Ave medians from NE 4 Ct to NE 6 St	11	each	\$16.00	\$176.00	\$38.00	\$418.00

139	Pre-Emergent Service for NE 15 Ave medians from NE 4 Ct to NE 6 St	1	each	\$37.50	\$37.50	\$192.00	\$192.00
140	Fertilizer Service for NE 15 Ave medians from NE 4 Ct to NE 6 St	2	each	\$200.00	\$400.00	\$192.00	\$384.00
141	Mulching Service for NE 15 Ave medians from NE 4 Ct to NE 6 St	2	each	\$220.00	\$440.00	\$212.50	\$425.00
143	Hedge Service for NE 11 St and Seminole Drive road closure median	15	each	\$28.00	\$420.00	\$304.00	\$4,560.00
144	Additional Weed and Trash Service for NE 11 St and Seminole Drive road closure m	11	each	\$8.00	\$88.00	\$38.00	\$418.00
145	Pre-Emergent Service for NE 11 St and Seminole Drive road closure median	1	each	\$30.00	\$30.00	\$48.00	\$48.00
146	Fertilizer Service for NE 11 St and Seminole Drive road closure median	2	each	\$50.00	\$100.00	\$48.00	\$96.00
147	Mulching Service for NE 11 St and Seminole Drive road closure median	2	each	\$27.50	\$55.00	\$170.00	\$340.00
148	Mow Service for Bayview Dr canal-ends E side of Bayview Dr between: NE 18 St & 1	26	each	\$108.00	\$2,808.00	\$76.00	\$1,976.00
149	Hedge Service for Bayview Dr canal-ends E side of Bayview Dr between: NE 18 St &	15 11	each	\$56.00	\$840.00	\$76.00	\$1,140.00
150 151	Additional Weed and Trash Service for Bayview Dr canal-ends E side of Bayview Dr	1	each	\$16.00 \$37.50	\$176.00 \$37.50	\$114.00 \$48.00	\$1,254.00 \$48.00
151	Pre-Emergent Service for Bayview Dr canal-ends E side of Bayview Dr between: NE Fertilizer Service for Bayview Dr canal-ends E side of Bayview Dr between: NE 18	2	each each	\$100.00	\$200.00	\$48.00	\$96.00
154	Mow Service for Bermuda Riviera swale on E side and road on NE 34 Ave from NE 3	26	each	\$100.00	\$2,808.00	\$684.00	\$17,784.00
155	Hedge Service for Bermuda Riviera swale on E side and road on NE 34 Ave from NE	15	each	\$56.00	\$840.00	\$760.00	\$11,400.00
156	Additional Weed and Trash Service for Bermuda Riviera swale on E side and road	11	each	\$32.00	\$352.00	\$38.00	\$418.00
157	Pre-Emergent Service for Bermuda Riviera swale on E side and road on NE 34 Ave	1	each	\$112.50	\$112.50	\$576.00	\$576.00
158	Fertilizer Service for Bermuda Riviera swale on E side and road on NE 34 Ave fr	2	each	\$300.00	\$600.00	\$576.00	\$1,152.00
159	Mulching Service for Bermuda Riviera swale on E side and road on NE 34 Ave from	2	each	\$275.00	\$550.00	\$765.00	\$1,530.00
160	Mow Service for NE 34 Ave at NE 41 St/Fort Royal Isle and NE 42 St/Castle Harbor	26	each	\$54.00	\$1,404.00	\$228.00	\$5,928.00
161	Hedge Service for NE 34 Ave at NE 41 St/Fort Royal Isle and NE 42 St/Castle Harb	15	each	\$56.00	\$840.00	\$152.00	\$2,280.00
162	Additional Weed and Trash Service for NE 34 Ave at NE 41 St/Fort Royal Isle and	11	each	\$16.00	\$176.00	\$114.00	\$1,254.00
163	Pre-Emergent Service for NE 34 Ave at NE 41 St/Fort Royal Isle and NE 42 St/Cast	1	each	\$37.50	\$37.50	\$288.00	\$288.00
164	Fertilizer Service for NE 34 Ave at NE 41 St/Fort Royal Isle and NE 42 St/Castle	2	each	\$200.00	\$400.00	\$288.00	\$576.00
165	Mulching Service for NE 34 Ave at NE 41 St/Fort Royal Isle and NE 42 St/Castle H	2	each	\$110.00	\$220.00	\$85.00	\$170.00
166	Mow Service for NE 27 Ave/Lake Estates swales ROWs and plant beds including:	26	each	\$324.00	\$8,424.00	\$380.00	\$9,880.00
167	Hedge Service for NE 27 Ave/Lake Estates swales ROWs and plant beds includin	15	each	\$224.00	\$3,360.00	\$912.00	\$13,680.00
168	Additional Weed and Trash Service for NE 27 Ave/Lake Estates swales ROWs and	11	each	\$32.00	\$352.00	\$152.00	\$1,672.00
169	Pre-Emergent Service for NE 27 Ave/Lake Estates swales ROWs and plant beds i	1	each	\$75.00	\$75.00	\$96.00	\$96.00
170	Fertilizer Service for NE 27 Ave/Lake Estates swales ROWs and plant beds inc	2	each	\$300.00	\$600.00	\$96.00	\$192.00
171	Mulching Service for NE 27 Ave/Lake Estates swales ROWs and plant beds inclu	2	each	\$110.00	\$220.00	\$425.00	\$850.00
172	Mow Service for Sunrise Blvd from Andrews Ave to Middle River Bridge	26	each	\$324.00	\$8,424.00	\$380.00	\$9,880.00
173	Hedge Service for Sunrise Blvd from Andrews Ave to Middle River Bridge	15	each	\$448.00	\$6,720.00	\$1,064.00	\$15,960.00
174	Additional Weed and Trash Service for Sunrise Blvd from Andrews Ave to Middle Ri	11	each	\$64.00	\$704.00	\$114.00	\$1,254.00
175 176	Pre-Emergent Service for Sunrise Blvd from Andrews Ave to Middle River Bridge Fertilizer Service for Sunrise Blvd from Andrews Ave to Middle River Bridge	2	each each	\$75.00 \$200.00	\$75.00 \$400.00	\$48.00 \$48.00	\$48.00 \$96.00
177	Mulching Service for Sunrise Blvd from Andrews Ave to Middle River Bridge	2	each	\$412.50	\$825.00	\$637.50	\$1,275.00
178	Mow Service for Sunrise Blvd from Middle River Bridge to A1A medians and swales	26	each	\$432.00	\$11,232.00	\$380.00	\$9,880.00
179	Hedge Service for Sunrise Blvd from Middle River Bridge to A1A medians and swales	15	each	\$672.00	\$10,080.00	\$1,368.00	\$20,520.00
180	Additional Weed and Trash Service for Sunrise Blvd from Middle River Bridge to A	11	each	\$64.00	\$704.00	\$38.00	\$418.00
181	Pre-Emergent Service for Sunrise Blvd from Middle River Bridge to A1A medians an	1	each	\$150.00	\$150.00	\$24.00	\$24.00
182	Fertilizer Service for Sunrise Blvd from Middle River Bridge to A1A medians and	2	each	\$300.00	\$600.00	\$24.00	\$48.00
183	Mulching Service for Sunrise Blvd from Middle River Bridge to A1A medians and sw	2	each	\$825.00	\$1,650.00	\$850.00	\$1,700.00
184	Mow Service for Barcelona Dr/NE 3 St & Desoto Dr pump station in swale on west s	26	each	\$13.50	\$351.00	\$19.00	\$494.00
185	Hedge Service for Barcelona Dr/NE 3 St & Desoto Dr pump station in swale on west	15	each	\$28.00	\$420.00	\$19.00	\$285.00
186	Additional Weed and Trash Service for Barcelona Dr/NE 3 St & Desoto Dr pump stat	11	each	\$8.00	\$88.00	\$38.00	\$418.00
187	Pre-Emergent Service for Barcelona Dr/NE 3 St & Desoto Dr pump station in swale	1	each	\$30.00	\$30.00	\$144.00	\$144.00
188	Fertilizer Service for Barcelona Dr/NE 3 St & Desoto Dr pump station in swale on	2	each	\$25.00	\$50.00	\$144.00	\$288.00
189	Mulching Service for Barcelona Dr/NE 3 St & Desoto Dr pump station in swale on w	2	each	\$22.00	\$44.00	\$8.50	\$17.00
190	Mow Service for Terramar St from A1A to Birch Road center median	26	each	\$54.00	\$1,404.00	\$76.00	\$1,976.00
191	Hedge Service for Terramar St from A1A to Birch Road center median	15	each	\$56.00	\$840.00	\$228.00	\$3,420.00
192	Additional Weed and Trash Service for Terramar St from A1A to Birch Road center	11	each	\$11.20	\$123.20	\$38.00	\$418.00
193	Pre-Emergent Service for Terramar St from A1A to Birch Road center median	1	each	\$37.50	\$37.50	\$48.00	\$48.00
194	Fertilizer Service for Terramar St from A1A to Birch Road center median	2	each	\$100.00	\$200.00	\$48.00	\$96.00
195 197	Mulching Service for Terramar St from A1A to Birch Road center median  Hedge Service for Vistamar St from A1A to Birch Road center median	2 15	each	\$110.00 \$112.00	\$220.00 \$1,680.00	\$255.00 \$304.00	\$510.00 \$4,560.00
198	Additional Weed and Trash Service for Vistamar St from A1A to Birch Road center	11	each each	\$8.00	\$88.00	\$38.00	\$4,300.00
199	Pre-Emergent Service for Vistamar St from A1A to Birch Road center median	1	each	\$37.50	\$37.50	\$144.00	\$144.00
200	Fertilizer Service for Vistamar St from A1A to Birch Road center median	2	each	\$100.00	\$200.00	\$144.00	\$288.00
201	Mulching Service for Vistamar St from A1A to Birch Road center median	2	each	\$55.00	\$110.00	\$255.00	\$510.00
203	Hedge Service for Breakers Ave from Vistamar St to Riomar St center median	15	each	\$224.00	\$3,360.00	\$304.00	\$4,560.00
204	Additional Weed and Trash Service for Breakers Ave from Vistamar St to Riomar St	11	each	\$32.00	\$352.00	\$38.00	\$418.00
205	Pre-Emergent Service for Breakers Ave from Vistamar St to Riomar St center media	1	each	\$75.00	\$75.00	\$288.00	\$288.00
206	Fertilizer Service for Breakers Ave from Vistamar St to Riomar St center median	2	each	\$250.00	\$500.00	\$288.00	\$576.00
207	Mulching Service for Breakers Ave from Vistamar St to Riomar St center median	2	each	\$825.00	\$1,650.00	\$637.50	\$1,275.00
209	Hedge Service for Riomar St from A1A to N. Birch Rd medians	15	each	\$56.00	\$840.00	\$304.00	\$4,560.00
210	Additional Weed and Trash Service for Riomar St from A1A to N. Birch Rd medians	11	each	\$16.00	\$176.00	\$38.00	\$418.00
211	Pre-Emergent Service for Riomar St from A1A to N. Birch Rd medians	1	each	\$75.00	\$75.00	\$288.00	\$288.00
212	Fertilizer Service for Riomar St from A1A to N. Birch Rd medians	2	each	\$300.00	\$600.00	\$288.00	\$576.00
			ı osah	C110 00	C220 00	COLL OU	\$510.00
213	Mulching Service for Riomar St from A1A to N. Birch Rd medians	2	each	\$110.00	\$220.00	\$255.00	
213 214 215	Mow Service for S Birch Rd and Castillo St - Cortez Passive Triangle Park  Hedge Service for S Birch Rd and Castillo St - Cortez Passive Triangle Park	26 15	each each	\$10.00 \$108.00 \$56.00	\$2,808.00 \$840.00	\$152.00 \$228.00	\$3,952.00 \$3,420.00

216	Additional Weed and Trash Service for S Birch Rd and Castillo St - Cortez Passiv	11	each	\$32.00	\$352.00	\$38.00	\$418.00
217	Pre-Emergent Service for S Birch Rd and Castillo St - Cortez Passive Triangle Pa	1	each	\$75.00	\$75.00	\$24.00	\$24.00
218	Fertilizer Service for S Birch Rd and Castillo St - Cortez Passive Triangle Park	2	each	\$300.00	\$600.00	\$24.00	\$48.00
219	Mulching Service for S Birch Rd and Castillo St - Cortez Passive Triangle Park	2	each	\$412.50	\$825.00	\$425.00	\$850.00
220	Mow Service for N Seabreeze Blvd and Alhambra St ROW next to Casablanca Restaura	15	each	\$27.00	\$405.00	\$35.00	\$525.00
221	Additional Weed and Trash Service for N Seabreeze Blvd and Alhambra St ROW next	11	each	\$3.20	\$35.20	\$76.00	\$836.00
222	Pre-Emergent Service for N Seabreeze Blvd and Albambra St ROW next to Casablanca	2	each	\$30.00 \$10.00	\$30.00 \$20.00	\$96.00 \$96.00	\$96.00 \$192.00
225	Fertilizer Service for N Seabreeze Blvd and Alhambra St ROW next to Casablanca R	26	each			\$96.00	•
225	Mow Service for ROW and median at Seabreeze and Sebastian St Hedge Service for ROW and median at Seabreeze and Sebastian St	15	each each	\$13.50 \$28.00	\$351.00 \$420.00	\$304.00	\$1,820.00 \$4,560.00
227	Mow Service for 1840 Middle River Dr traingle at Middle River Dr and Coral Ridge	26	each	\$54.00	\$1,404.00	\$76.00	\$1,976.00
228	Additional Weed and Trash Service for 1840 Middle River Dr traingle at Middle Ri	11	each	\$8.00	\$88.00	\$38.00	\$418.00
229	Pre-Emergent Service for 1840 Middle River Dr traingle at Middle River Dr and Co	1	each	\$30.00	\$30.00	\$96.00	\$96.00
231	Mulching Service for 1840 Middle River Dr traingle at Middle River Dr and Coral	2	each	\$27.50	\$55.00	\$85.00	\$170.00
232	Mow Service for NE 19 St and NE 22 Ave ROWs at Bal Harbour neighborhood entrance	26	each	\$27.00	\$702.00	\$76.00	\$1,976.00
233	Hedge Service for NE 19 St and NE 22 Ave ROWs at Bal Harbour neighborhood entran	15	each	\$56.00	\$840.00	\$35.00	\$525.00
234	Additional Weed and Trash Service for NE 19 St and NE 22 Ave ROWs at Bal Harbour	11	each	\$8.00	\$88.00	\$76.00	\$836.00
235	Pre-Emergent Service for NE 19 St and NE 22 Ave ROWs at Bal Harbour neighborhood	1	each	\$30.00	\$30.00	\$48.00	\$48.00
236	Fertilizer Service for NE 19 St and NE 22 Ave ROWs at Bal Harbour neighborhood e	2	each	\$100.00	\$200.00	\$48.00	\$96.00
237	Mulching Service for NE 19 St and NE 22 Ave ROWs at Bal Harbour neighborhood ent	2	each	\$55.00	\$110.00	\$63.75	\$127.50
238	Mow Service for NE 22 Ave from NE 19 St to NE 15 Ct west swale area	26	each	\$216.00	\$5,616.00	\$380.00	\$9,880.00
239	Hedge Service for NE 22 Ave from NE 19 St to NE 15 Ct west swale area	15	each	\$112.00	\$1,680.00	\$456.00	\$6,840.00
240	Additional Weed and Trash Service for NE 22 Ave from NE 19 St to NE 15 Ct west s	11	each	\$32.00	\$352.00	\$76.00	\$836.00
241	Pre-Emergent Service for NE 22 Ave from NE 19 St to NE 15 Ct west swale area	1	each	\$300.00	\$300.00	\$48.00	\$48.00
242	Fertilizer Service for NE 22 Ave from NE 19 St to NE 15 Ct west swale area	2	each	\$400.00	\$800.00	\$48.00	\$96.00
243	Mulching Service for NE 22 Ave from NE 19 St to NE 15 Ct west swale area  Mow Service for 5251 NE 20 Ave circle	2 26	each each	\$825.00 \$54.00	\$1,650.00 \$1,404.00	\$637.50 \$76.00	\$1,275.00 \$1,976.00
245	Hedge Service for 5251 NE 20 Ave circle	15	each	\$28.00	\$420.00	\$152.00	\$2,280.00
246	Additional Weed and Trash Service for 5251 NE 20 Ave circle	11	each	\$8.00	\$88.00	\$38.00	\$418.00
247	Pre-Emergent Service for 5251 NE 20 Ave circle	1	each	\$37.50	\$37.50	\$48.00	\$48.00
248	Fertilizer Service for 5251 NE 20 Ave circle	2	each	\$100.00	\$200.00	\$48.00	\$96.00
249	Mulching Service for 5251 NE 20 Ave circle	2	each	\$55.00	\$110.00	\$85.00	\$170.00
250	Mow Service for Flagler Dr between Sunrise Blvd and Andrews Ave swales on east a	26	each	\$864.00	\$22,464.00	\$304.00	\$7,904.00
251	Hedge Service for Flagler Dr between Sunrise Blvd and Andrews Ave swales on east	15	each	\$56.00	\$840.00	\$532.00	\$7,980.00
252	Additional Weed and Trash Service for Flagler Dr between Sunrise Blvd and Andrew	11	each	\$16.00	\$176.00	\$38.00	\$418.00
253	Pre-Emergent Service for Flagler Dr between Sunrise Blvd and Andrews Ave swales	1	each	\$37.50	\$37.50	\$48.00	\$48.00
254	Fertilizer Service for Flagler Dr between Sunrise Blvd and Andrews Ave swales on	2	each	\$200.00	\$400.00	\$48.00	\$96.00
255	Mulching Service for Flagler Dr between Sunrise Blvd and Andrews Ave swales on e	2	each	\$165.00	\$330.00	\$85.00	\$170.00
256	Mow Service for N Andrews Ave medians between NE 62 St/Andrews Ave and N city bo	26	each	\$216.00	\$5,616.00	\$304.00	\$7,904.00
257	Hedge Service for N Andrews Ave medians between NE 62 St/Andrews Ave and N city	15 11	each	\$112.00 \$32.00	\$1,680.00	\$532.00	\$7,980.00 \$418.00
258 259	Additional Weed and Trash Service for N Andrews Ave medians between NE 62 St/And  Pre-Emergent Service for N Andrews Ave medians between NE 62 St/Andrews Ave and	1	each each	\$32.00	\$352.00 \$75.00	\$38.00 \$48.00	\$418.00
260	Fertilizer Service for N Andrews Ave medians between NE 62 St/Andrews Ave and N	2	each	\$400.00	\$800.00	\$48.00	\$96.00
261	Mulching Service for N Andrews Ave medians between NE 62 St/Andrews Ave and N ci	2	each	\$412.50	\$825.00	\$637.50	\$1,275.00
262	Mow Service for NW 31 Ave from NW 62 St to NW 69 Ct -Palm Aire West median alo	26	each	\$108.00	\$2,808.00	\$76.00	\$1,976.00
264	Additional Weed and Trash Service for NW 31 Ave from NW 62 St to NW 69 Ct -Palm	11	each	\$16.00	\$176.00	\$76.00	\$836.00
265	Pre-Emergent Service for NW 31 Ave from NW 62 St to NW 69 Ct -Palm Aire West m	1	each	\$75.00	\$75.00	\$24.00	\$24.00
266	Fertilizer Service for NW 31 Ave from NW 62 St to NW 69 Ct -Palm Aire West med	2	each	\$500.00	\$1,000.00	\$24.00	\$48.00
267	Mulching Service for NW 31 Ave from NW 62 St to NW 69 Ct -Palm Aire West media	2	each	\$165.00	\$330.00	\$212.50	\$425.00
268	Mow Service for 725 N Fort Lauderdale Beach Blvd lot	26	each	\$162.00	\$4,212.00	\$228.00	\$5,928.00
269	Additional Weed and Trash Service for 725 N Fort Lauderdale Beach Blvd lot	11	each	\$32.00	\$352.00	\$38.00	\$418.00
270	Pre-Emergent Service for 725 N Fort Lauderdale Beach Blvd lot	1	each	\$75.00	\$75.00	\$144.00	\$144.00
271	Fertilizer Service for 725 N Fort Lauderdale Beach Blvd lot	2	each	\$100.00	\$200.00	\$144.00	\$288.00 \$425.00
272 273	Mulching Service for 725 N Fort Lauderdale Beach Blvd lot  Mow Service for E Sunrise Blvd & A1A medians	26	each	\$110.00 \$162.00	\$220.00 \$4,212.00	\$212.50 \$0.00	\$425.00
274	Hedge Service for E Sunrise Blvd & A1A medians  Hedge Service for E Sunrise Blvd & A1A medians	15	each each	\$336.00	\$4,212.00	\$0.00	\$0.00
275	Additional Weed and Trash Service for E Sunrise Blvd & A1A medians	11	each	\$16.00	\$3,040.00	\$0.00	\$0.00
276	Pre-Emergent Service for E Sunrise Blvd & A1A medians	1	each	\$37.50	\$37.50	\$0.00	\$0.00
277	Fertilizer Service for E Sunrise Blvd & A1A medians	2	each	\$250.00	\$500.00	\$0.00	\$0.00
278	Mulching Service for E Sunrise Blvd & A1A medians	2	each	\$110.00	\$220.00	\$0.00	\$0.00
280	Hedge Service for NE 32 St & NE 33 St medians from A1A to NE 32 Ave	15	each	\$672.00	\$10,080.00	\$35.00	\$525.00
281	Additional Weed and Trash Service for NE 32 St & NE 33 St medians from A1A to NE	11	each	\$16.00	\$176.00	\$76.00	\$836.00
282	Pre-Emergent Service for NE 32 St & NE 33 St medians from A1A to NE 32 Ave	1	each	\$37.50	\$37.50	\$96.00	\$96.00
283	Fertilizer Service for NE 32 St & NE 33 St medians from A1A to NE 32 Ave	2	each	\$200.00	\$400.00	\$96.00	\$192.00
284	Mulching Service for NE 32 St & NE 33 St medians from A1A to NE 32 Ave	2	each	\$110.00	\$220.00	\$850.00	\$1,700.00
285	Mow Service for 3351 NE 33rd Ave - Beach Community Center	26	each	\$648.00	\$16,848.00	\$76.00	\$1,976.00
286 287	Hedge Service for 3351 NE 33rd Ave - Beach Community Center Additional Weed and Trash Service for 3351 NE 33rd Ave - Beach Community Center	15 11	each each	\$896.00 \$64.00	\$13,440.00 \$704.00	\$532.00 \$38.00	\$7,980.00 \$418.00
288	Pre-Emergent Service for 3351 NE 33rd Ave - Beach Community Center	1	each	\$600.00	\$600.00	\$38.00	\$418.00
289	Fertilizer Service for 3351 NE 33rd Ave - Beach Community Center	2	each	\$1,000.00	\$2,000.00	\$96.00	\$192.00
290	Mulching Service for 3351 NE 33rd Ave - Beach Community Center	2	each	\$825.00	\$1,650.00	\$637.50	\$1,275.00
291	Mow Service for Bayview Dr medians between Oakland Park Blvd and NE 33 St	15	each	\$13.50	\$202.50	\$35.00	\$525.00
	•						

292	Hedge Service for Bayview Dr medians between Oakland Park Blvd and NE 33 St	15	each	\$28.00	\$420.00	\$76.00	\$1,140.00
293	Additional Weed and Trash Service for Bayview Dr medians between Oakland Park Bl	11	each	\$8.00	\$88.00	\$38.00	\$418.00
294	Pre-Emergent Service for Bayview Dr medians between Oakland Park Blvd and NE 33	1	each	\$30.00	\$30.00	\$48.00	\$48.00
295	Fertilizer Service for Bayview Dr medians between Oakland Park Blvd and NE 33 St	2	each	\$10.00	\$20.00	\$48.00	\$96.00
298	Hedge Service for Galt Ocean Dr from NE 36 St to Oakland Park Blvd west side gra	15	each	\$224.00	\$3,360.00	\$35.00	\$525.00
299	Additional Weed and Trash Service for Galt Ocean Dr from NE 36 St to Oakland Par	11	each	\$32.00	\$352.00	\$76.00	\$836.00
300	Pre-Emergent Service for Galt Ocean Dr from NE 36 St to Oakland Park Blvd west s	1	each	\$75.00	\$75.00	\$96.00	\$96.00
301	Fertilizer Service for Galt Ocean Dr from NE 36 St to Oakland Park Blvd west sid	2	each	\$250.00	\$500.00	\$96.00	\$192.00
303	Mow Service for A1A/N Ocean Dr medians and swales from Oakland Park Blvd to Fla	26	each	\$324.00	\$8,424.00	\$35.00	\$910.00
304	Hedge Service for A1A/N Ocean Dr medians and swales from Oakland Park Blvd to F	15	each	\$3,584.00	\$53,760.00	\$684.00	\$10,260.00
305	Additional Weed and Trash Service for A1A/N Ocean Dr medians and swales from Oak	11	each	\$128.00	\$1,408.00	\$76.00	\$836.00
306	Pre-Emergent Service for A1A/N Ocean Dr medians and swales from Oakland Park Blv	1	each	\$1,500.00	\$1,500.00	\$192.00	\$192.00
307	Fertilizer Service for A1A/N Ocean Dr medians and swales from Oakland Park Blvd	2	each	\$4,000.00	\$8,000.00	\$192.00	\$384.00
308	Mulching Service for A1A/N Ocean Dr medians and swales from Oakland Park Blvd t	2	each	\$8,250.00	\$16,500.00	\$850.00	\$1,700.00
	TOTAL				\$701,823.90		\$707,547.00